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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231187
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662315409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& letter series id givern balows of which only one letter 15 INCORRECT . Find that letter.

A A B C EHMNU
Options:
1. % E
2. %
3.V N
4 % 1

Question Number : 1 Question Id : 9662315409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TET UeF 2J4T GaT o T2 2, ST H Fae UF 3187 T0d 2, T 2147 & AT F4

A A E CEHMNU
Options:
1. % E
2 %
3.V N
4 %17

Question Number : 2 Question Id : 9662315410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing letter in the given series.

DLE LME,?
Options:
1. % w
2. %y
3 VK
4 % Z

Question Number : 2 Question Id : 9662315410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TR 15 Sfaw § 0 9T J1d @1
DLELME?

Options:



1% w
2 %Y
3.9 K
4 % 7

Question Number : 3 Question Id : 9662315411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following words as per order in the dictionary and choose the third word.

Ghost
Ghostly
Ghastly
Godliness
Go0gle
Geography

Options:

1. ® Google

= % Ghost

3. ® Geography
4. % Ghostly

Question Number : 3 Question Id : 9662315411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR el T Teqer al & FH o STJHR sqa e ®e I d 6RT 2T a1l =g 1o

Ghost
Ghostly
Ghastly
odliness
Gongle
Geography

Options:

1. #® Google

= ¥ Ghost

3. ® Geography
4. % Ghostly

Question Number : 4 Question Id : 9662315412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the set of words that are analogous to the given set of words.

Erush : Paper
Options:

1. % Ink: Inkpot
= % Pencil : Pen
3. ¥ Pen : Paper

4. % Battery : Remote



Question Number : 4 Question Id : 9662315412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Aegl F HT T I B AT Aeg] o 7 T HE & 7€ o)

EENCIRE]
Options:
1. % =T g
2. ¥ UEd: wan
3.V ol | I
4. ¥ =i oA

Question Number : 5 Question Id : 9662315413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
termn.

Distance : Metre ; Weight @ 7
Options:

1. % Kilogram

2. % Pascal

3% 51

4. % Joule

Question Number : 5 Question Id : 9662315413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

39 el T i B ST S 19 Ug & I HeR T | Wl e WE | uge U g U § Helldd gl
gﬁ:iﬂﬂ?::a?ﬁr:?

Options:

1. fersiom

2. % U

3. % UaaE

4. % o

Question Number : 6 Question Id : 9662315414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % Violet
2. % Elue

2. % Crange
4. ¥ Black

Question Number : 6 Question Id : 9662315414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



%qn%ﬁ'cﬁﬁﬁﬁ T T Tl Fer & TH 2 §TAl, U [dded ST o 4 1 a¥g Ag1 51 99 e @1 == & a1 a1l &
ST

Options:

1. % dfrer
2 ® Jar
3. ® qudT
4. & P

Question Number : 7 Question Id : 9662315415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the given options can be a part of the group to which the given words belong?

Chicken, Turkey, Duck
Options:

1. % Cat

2. % Dog

2. % Snake

4 ¥ Geese

Question Number : 7 Question Id : 9662315415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty et § | @ AT S 39 TUg W BEAr §f ST 5 HEH [ T e a7

T, T, 7

Options:

1. ® fawsr
o % g
3 % |
4. & FoRE

Question Number : 8 Question Id : 9662315416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the pair of words that is analogous to the given pair.

Zar : Petrol
Options:

1. % Tea: Coffee
2. % (il Butter
2. ¥ Bat: Ball

4. ® CD:DVD

Question Number : 8 Question Id : 9662315416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I Sat A ST T AT AT ST TE LT SR Bl
W:ﬁ@?rr

Options:



1. % Imr HH
2. ¥ 3 AEET
3. ¥ gear 1T

4. % HErSEET

Question Number : 9 Question Id : 9662315417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the set of words that are analogous to the given set of words.

Water . Hydrogen | Oxygen

Options:

1. % Calculator : Functions : Buttons
2. % Food : Cil : Fruits

3. % Phone : Pictures - Songs

4. ® Language : Grarrmar ; Literature

Question Number : 9 Question Id : 9662315417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I el W W AT FEAT Aeg ] & T T AT F ST 2

AT STES T, TTae e

Options:

1. ¢ FAgeleT wRE A
2. % T 3 T

3 % o 'E e

4, % o SaTEeT Ailged

Question Number : 10 Question Id : 9662315418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 & certain language, "bat and Lall” is written as "tab dna llab”, "play with bat" 15 written as "valp htiw tab" and
"Dl with ball” is written as "lwob htiw llab”. How 15 "and” written?

Options:

1. * tab
2 % llab
2. ¥ dna

4 % dan

Question Number : 10 Question Id : 9662315418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Tfeda vmeT H, "bat and ball” @ "tab dna llab" % 7 # TR 9T 5, "play with bat” @ "yalp htiw tab" & 7 7 3T
"bowl with ball" @ "lwob htivw lab" & &7 # f&Er JE71 81 "and" &9 AET 57

Options:
1. % tab
. # llab

= % dna



4. % dan

Question Number : 11 Question Id : 9662315419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifina language, 'table' is coded as 'Chair', then how s 'tea’ codead?

Options:

1. % sugar
2. % coffee
. % Spoor
4 % knife

Question Number : 11 Question Id : 9662315419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ofe et AT H, table' 1 'chair' & &7 8 $ET [T AGT 5, 1 'tea' T de BHET TeraT Am?

Options:
1. % sugar

2. % coffee
2. % spoor
4. % knife

Question Number : 12 Question Id : 9662315420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I a code, MOUSE = 72 and RAT = 29, How rmach is MICE equal to?

Options:
1. % 326
2. % 48
Z.0% 24
4 ¥ 20

Question Number : 12 Question Id : 9662315420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TF B2 H, MOUSE = 73 8 RAT = 39 31 59 #12 § MICE &1 g5 FT &7

Options:
1. % 26
2. % 48
3% 24
4. % 30

Question Number : 13 Question Id : 9662315421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

£ people are sitting on a circular table facing inwards. K sits in between M and O, O sits across M. P sits on one
side of © and L is on one side of M. Who sits across K7

Options:

1. % M



2. %P
3. ¢ L
4 % 0O

Question Number : 13 Question Id : 9662315421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
&AM I MAHFR dar T At I o g do gl K, N RO e Hegar 1 O, M FOR S8aT 91 F, O &F U 99F <adT &
L, M % 0% a0E 5T 81 K & O & 57

Options:
1.% M
2 %P
3. ¥ L
4 % O

Question Number : 14 Question Id : 9662315422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a row of 20 boys, when ¥ is shifted 2 places to his left, he is now placed 15th from the left. What was his
original position from the right?

Options:

1. % third
2. % fifth
2. % sixth
4. ¥ fourth

Question Number : 14 Question Id : 9662315422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20 ASH! F TF Uk |, T X T JHF a8 AT 2 T COHF T a7 a7 5, 37 39 a8 ST § 15 & #0408 57 AT 81 206 &%
o I u Tesrta e o

Options:
1. % drer
2 % Ui
3. % gar
4 &

Question Number : 15 Question Id : 9662315423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Pointinig to a wornan in the photograph, ¥ said, her father's sister i3 the only daughter of my mother's father-
in-law. How is ¥'s mother related to the worman?

Options:

1. % Herself
2. % Daughter
3% Aunt

4. ¥ Mother

Question Number : 15 Question Id : 9662315423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

g&ﬁfgwnﬁmfﬁaﬁvgmaﬂ%m ¥+ T, I TUAT T A5 U AT & ST & AT St o1 X w1 HIaT # Bl & F49T
AT B

Options:

1. % v

o % ot

3. % ot At At e
4. % #{ET

Question Number : 16 Question Id : 9662315424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

K T H M 50 m TeaT 8, T 2 5241 8 i 100 m 3 24T 81 95 T F 3 3T 50 rm =TAAT 31 9% e g a3
EdT & 3 60 M TIeaT 2l eﬁaﬁﬁmmﬁﬁ%ﬁawgﬁw%ﬁwﬁm@ﬁ{mﬁﬁ?

Options:

1. ¥ 50 m gig-gd
2 % 70 m -
3 % SomIm-gd
4 % 70 m IW-Td

Question Number : 16 Question Id : 9662315424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ walks 50 m towards North, takes a right and walks ahead 100 m. He again takes a right and walks for 80 m.
He again turns right and walks for 60 m. What is the minimum distance between his current and his starting
position and in what direction?

Options:

1. % 50 m South-East
2. % 70 m South-East
2. % S0 mMNorth-East

4. % 70 mMNorth-East

Question Number : 17 Question Id : 9662315425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There are S siblings, &4, B, C, D and E. A is elder to C who is elder to E. D is younger than & but not younger
than C. B is neither the youngest nor the eldest. Who is the yourgest sibling?

Options:
1. % 4
2. %
=2 %D
4 ¥ E

Question Number : 17 Question Id : 9662315425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

A B C DRE SHE-TEa g A, CHIST C,ETTSTR D, A G TRTE, Al C T 51 E 737 Gad §1e7 7 & T 51 Gad
FZT 2 e T HEIET A

Options:

1. % 4



2. % C
3 %D
4 ¥ E

Question Number : 18 Question Id : 9662315426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The statements below are followed by two conclusions labelled [ and II . Assurming that the information in the
staternents is true, even if it appears to be at variance with reality, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Staterments:
Sorme books are notebooks.
All pages are noteboolks.

CONClusIons:
[. Some pages are books.
II. Sorme noteboolks are pages.

Options:

1. % Only conclusion I follows.

2. % Only conclusion 11 follows.

2. % Both conclusions I and IT follow

4. % Meither conclusion I or IT follows.

Question Number : 18 Question Id : 9662315426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e fam Ty et H 1 S 11 < e st Ty o A aﬁﬂﬂﬁa%gﬁﬁfﬁmﬁﬁanﬁqﬂaﬂﬁwa e £Y O TRt &
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ST
[ELza
it%ﬁ%ﬁw@%
Options:

1. % e Tmepd 1 SIeRoT @ear gl
2. drgel Teay 11 STgae &eaT gl
3 % gl w1 ol 11 arge @ gl
4 % T TA5RE | AT S & g

Question Number : 19 Question Id : 9662315427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The staternents below are followed by two assurnptions labelled I and I . Assuming that the inforrmation in the
staternents is true, even if it appears to be at variance with reality, decide which assumption(s) is fare logically
and definitely valid based on the information given in the staternents.

Statermnents:
Sorme birds are in sanctuaries.
Sanctuaries are a safe place for birds

Assurnptions:
[. All other birds are i the wild.
II. Poachers are not allowed i sanctuaries.

Options:

1. % Only assumption I is valid

2. ¥ Cnly assumption 11 is valid
2. ® EBoth assumptions are valid

4. % IMNeither assurmption is valid

Question Number : 19 Question Id : 9662315427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Ter T st # 1 ST 11 A 9Tt S R0 5 A5 AT 50 O deet # S TE Aw 9o 5, Wl 5F a5 arediawdr o e
Tt g, Tenter & oF gt # S TS AT S ST U A &7 W0 A0 aviceer &Y T ' | A ) 3

g?&ﬁamwm“fﬁ%‘l
FFERT wiEt o THT U geige e Al

it
i M@Wﬁgaﬁmﬁqﬁ%

Options:
1. % e a0 A

2. o e aroT Il BT AT R
% % ZHEl g AT E
4. % FE AT a0 AT AR 5

Question Number : 20 Question Id : 9662315428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the next term in the following number series:

S0, 200, 8400, 25800, 51200, 7
Options:
1. % 102400

2. % 76200
2. % ZR400
4. ¥ 51200

Question Number : 20 Question Id : 9662315428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tergter T ST sgeT | 1T 0 A9 @

S0, 300, 6400, 25600, 51200,7

Options:
1. % 102400
2. % FEE00
3% 3E400
4. 9 51200
Merital Ability 2
Group Number : 2
Group Id: 96623165
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
hental Ability 2
Section Id : 966231180
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231188
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662315429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the pair of numbers that is analogous to the given pair.

2580
Options:
1.9 1550

2 0% 10:31
3. % 1555



4. % 10:40

Question Number : 21 Question Id : 9662315429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3 Tt T ST F AT ST 4T T SAST & HTET B

2580
Options:

1. ¥ 15:50
2. % 10:31
3. % 1555
4 % 10:40

Question Number : 22 Question Id : 9662315430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be interchanged to malke the below equaticon mathernatically correct?

ExE+12-7411 =10
Options:
1. % x,+
oW ow s
38+ =
4 ¥ -+

Question Number : 22 Question Id : 9662315430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Te Ty St @ i € F "el T o oy, TR o el @ T S N wT iy
Exe+-12-74+11 =10

Options:

1. % =+

2.0% -

3%+, =

4.9 - +

Question Number : 23 Question Id : 9662315431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the set of numbers that i3 analogous to the giver set

(21, 49, 25)

Options:

1. % (B4, 36, 16)

2. % (125, 27, 1)
3% (729, 343, 125)
4. % (100, 49, 25)



Question Number : 23 Question Id : 9662315431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T €T W Srged SETelt & 9HE 19 @
=1, 49, 25)

Options:

1. ¥ (B4, 26, 18)

2 % (125, 27, 1)

3. % (729, 343, 125)

4. % (100, 49, 25)

Question Number : 24 Question Id : 9662315432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing nurmber in the following number series.

15, 90, 450, 7, 5400, 10500,
Options:

1. % 300

2. % 1350

3. ¥ 1800

4. % 2700

Question Number : 24 Question Id : 9662315432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRiRTET HEaT fae § g ST 9 F#4

15, 90, 450, 7, 5400, 10300
Options:

1. % 300

Z % 1350

3. ¥ 1800

4. % 2700

Question Number : 25 Question Id : 9662315433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
hoose the option that can appropriately replace the

132 - 129737 4 4°
Options:
1 ®

2
3 ®

<
4 ®

Question Number : 25 Question Id : 9662315433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



39 {omey @7 T o AT I ' 7 @ A o we

132 - 122737 4 4°
Options:
1 %

oo
3. %
4 %

Question Number : 26 Question Id : 9662315434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:
1. % 41
2 ¥ 5l
2% gl
4 % 71

Question Number : 26 Question Id : 9662315434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁ'cﬁﬁﬁﬁ T T Tl Fer & TH 2 §TAl, U [dded ST o 4 1 a¥g Ag1 51 99 e @1 == & a1 a1l &
ST

Options:
1. % 41
2. ¥ 5l
2% 51
4 % 71

Question Number : 27 Question Id : 9662315435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmbers should be interchanged to make the below equation mathematically correct?

S2x4+20418-16=6
Options:

1.9 20, 16

2. % 4 16

3% 4 32

4 % 16 32

Question Number : 27 Question Id : 9662315435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el T T I I | Gy e o o T o et S I ST R T AT 2 e

Sexd+z20+16-16=6
Options:



1. ¥ 20, 16
2. % 416
3% 4 32
4 % 1¢ 32

Question Number : 28 Question Id : 9662315436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that relates to the third term in the same way as the second term relates to the first term.

15:64::4:7
Options:
1. % 16
2. % 11
3. ¥ 20
4 % 23

Question Number : 28 Question Id : 9662315436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 oo T 2 B ST S 1 U & I W | Tl e W UgE uE g U o HellHd gl

15:64::4:7
Options:
1. % 16
2. 0% 11
3. ¥ 20
4 % 23

Question Number : 29 Question Id : 9662315437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given number pairs, three are similar in a certain manner. However, one pair is NOT like the other
three. Select the option which is different from the rest.

Options:
1.% 1,11
2. 0% 11,121

2.9 121, 1111
4 % 1331, 14641

Question Number : 29 Question Id : 9662315437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%ﬁqw%mqﬁ%ﬁﬁﬁ 1 T TS Fr & T 5 §IAT, U Al 3 91 & 3G FRl ol 39 Al @1 =h @ AT Tt
AT

Options:
1.% 1,11
2% 11,121

3.9 121, 1111



4. % 1321, 14641

Question Number : 30 Question Id : 9662315438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following figure, the rectangle represents mechanics, the triangle represents income tax officers, the
Circle represents social workers and the square represents fathers. Which set of letters represents income tax
officers who are NOT social workers?

-]
f \
F H |
D 7 /'
]
A
Options:
1. % TE
2 % BC
= % DH
4 % G

Question Number : 30 Question Id : 9662315438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrferfaT smpfe 8, s TafEat & gafar 2 e smee afteriet @7 gofar & oF ameE srddatet 7 gaiar £ o ot
ToaTart T ZATaT 81 STaRT BT B AT G SITHET SATEFECAT 1 ST o AT AATE Frh@d] T5l o7

7
f \
F K
D 7 /'
" |
A
Options:
1. % LE
= ¥ BC
= % DH
4 *® G

Question Number : 31 Question Id : 9662315439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Venn diagrams best represents the relationship between mothers, fathers and wormen?

Options:



o %
_}' \..
[ ¥ )
3 % -
4 ¢

Question Number : 31 Question Id : 9662315439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g o & @ A7 o e AT, Toarert o igmret o e & Hee @ Hed ST gaiar &7

Options:



Question Number : 32 Question Id : 9662315440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A race starts off on a circular track with radius 7 kms. 4 man takes 1 hour to complete 1 lap of the ground
and 20 rrinutes to travel across the ground. How rmach time will he tale to cover 30 kans which inwolve atleast
1 full lap?

Options:

1. % 90 mins
2. % 180 mins
2 % 150 mins

4. % 110 mins

Question Number : 32 Question Id : 9662315440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UF 3T 7 mﬁwﬁwﬁﬂwwm@ﬁ% T STEHT T FAHT F] 1 &0 P QT FA § 1 H2T AT 3 W A O e §
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Options:
1. ¥ 90 iee

> ® 150 fime
3 ® 150 fiw
4 ¥ 1100w

Question Number : 33 Question Id : 9662315441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& worman starts from her hut and walks in search of water. She starts by walling East for 8 kmis and then 2025
South for € kms. There she finds a well and now wants to go back to her hut. In which direction should she
travel to reach her huat?

Options:

1. ¢ DMorth-west
2. % East

2. % DMNorth-East
4. % South-West

Question Number : 33 Question Id : 9662315441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T WiGHT ST SUST & UHT T ToTe # e 51 a5 G0 H 5 lan U $1 3% =wa T 5 S 16T 6 lary FTE0T T 371 A& T
aﬁwgﬁmﬁm%aﬁeﬂmﬁrgﬁmﬁmwmﬁ% I AT S0 T g & Ty o e & amar et

Options:
1. Fae-uiam

o ® g

3 % gwm-md



4. ® gigr-uim

Question Number : 34 Question Id : 9662315442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cut of the four options three are similar in a certain way and one is different. Find the option which is
different.

Options:
F DU
Q EH
X 1 O
1 =
X UE
| F Q
HDO
o R
FQ X
HD I
E U Q
3. v
H OD
X 1 Q
F UE
g4,

Question Number : 34 Question Id : 9662315442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A el # | o 9 U WS a0 & 90 § ol Ud SIe 81 9% f0wed go S ST 8l

Options:

® o m
m
I




FQ X

HD I

E U Q
3 v

HOD

X 1 Q

F U E
4.%

Question Number : 35 Question Id : 9662315443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four pairs of figures are given. Three pairs are sirilar in a certain way and one is different. Find the pair of
figures which is different.

Be
8@
> % -
v 2 @

Question Number : 35 Question Id : 9662315443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W STETTT & AT of T 81 19 FSa7 U T Toer & G0 § 3T U 317 31 39 A1S! @1 S1d & A1 T3 81

Options:



O
©

RN C
gle
e

Question Number : 36 Question Id : 9662315444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The two figures given in the question are similar in a certain way. Only one figure from the options is similar to
the two figures given in the question in the same way. Find that figure.

O Ol [
TV iae<o

Options:

I [

= L7

1.9



A
I ~
I |
[\ AT\

Question Number : 36 Question Id : 9662315444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
z%&ﬁﬂ?aﬁﬁm' e TTeT T TH 21 Eeent § & thad U AEid, S9ravg @ g H 21 TS a5 Tt oF g6 81 39
=

O Ol L
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Options:

I [

= L7

1.9




1 ~
g |
A\ AN

Question Number : 37 Question Id : 9662315445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following cubes in the answer figure CANMNOT be made based on the unfolded cube in the
question figure?

X
Xep
]
€1/
Options:
Y
o/ @
X
1. %
X
o




A
\

N

Question Number : 37 Question Id : 9662315445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
JAC AT H O O @ U g id § U O o ST U AR a1l AT aed T 57

X
X refe
1y
1/
Options:
L A ]
o/ @
X
1. %
£
o
3 %

N
1/




Question Number : 38 Question Id : 9662315446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following answer figures completes the pattern showr in the question figure?

)

Options:

[l
1.9
o %

| .
3 %

|~
4 %

Question Number : 38 Question Id : 9662315446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



FEHET # & &9 9 30 AT, W Mg H gy My Ued i T #eat gy

)

Options:

[l
1. %
o ®

| .
3 %

|~
4 ®

Question Number : 39 Question Id : 9662315447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If a rmmirror is placed on the line MM, then which of the answer figures will be the right mirror image of the
given figure?

Options:

Question Number : 39 Question Id : 9662315447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fe U U ST 4T MM U TET AT |, 97 F I 9T 39 HTE T ol T ST @ @5 [ SU Hid feia 57




Options:

Question Number : 40 Question Id : 9662315448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Farts given in which option can be joined to create the pattern given in the question figure?

Ll

Options:




Question Number : 40 Question Id : 9662315448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
weg A ta | T T e w0t ae % o e & Tee & sy g AT A 1 27
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Options:




Ceneral Avwarensssl

Group Number : 3
Group Id: 96623166
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 966231181

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231189
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662315449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

While performing Dalkhai in Odisha, men address women as their
Options:

1. % niece

throughout the performance.

2. % mother
3. * sister
4. % girlfriend

Question Number : 41 Question Id : 9662315449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AEAT ¥ ZAETE HT WS T TR, [0 O USd- & SR Aigesll &1 30
Options:

1. % oqir

= % OmEr

3% e
4, " UfHET

Question Number : 42 Question Id : 9662315450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fandit Shivkumar Sharma is a very famous classical musician who has acquired international fame by plaving
the classical instrurnent,

Options:
1. # Sitar

2. % Santoor
% % Flute
4 % Tahla

Question Number : 42 Question Id : 9662315450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TS THEgATe aT U Sgd Wity AT |iitaerTe § FvgiT e e . T ST SR T ST WTe 1 g
Options:

1. % Taw

2 ¥ A

3 % g

4. % T

Question Number : 43 Question Id : 9662315451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Khajuraho group of monuments was built by rulers of the

Options:

1. % Gupta Dynasty

2. % Chandela Dynasty
2. % Maurva Dynasty

4 % Chola Dynasty

Question Number : 43 Question Id : 9662315451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR EARE FHE WA SITERT BT Tora 1T 2m

Options:

1. % 178 Tae
= W TEET O
3. % O e
4, ¥ = TG




Question Number : 44 Question Id : 9662315452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Saga Dawa is celebrated in ________
Options:

1. % Gujarat

2. ¥ Sikkim

3. % Nagaland

4. # Manipur

Question Number : 44 Question Id : 9662315452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HITEET ________ H AT ST 2

Options:

1. % TR
= o T&igH
3. % s
4 % g

Question Number : 45 Question Id : 9662315453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mational Income at Factor Cost = MNet Mational Product at Market Price - ________________
Options:

1. ® (Indirect Taxes - Subsidies)

2. ¥ (Indirect taxes + Subsidies)

3. % (Subsidies - Indirect taxes)

4 % Sybhsidies

Question Number : 45 Question Id : 9662315453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IR sl U TP T = a0 Tt T8I Jedig — ________________
Options:

1. ® (3Medy & - T=EgEdn
Z W (ST W + TR
3. % (IFERTET - ey )
4. TrEREET

Question Number : 46 Question Id : 9662315454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following banks was inaugurated by Mahatrna Gandhi in 19197

Options:

1. % Punjab MNaticnal Barilk
2. % Union Bank of India
3. % Central Bank of India

4 % Bank of India



Question Number : 46 Question Id : 9662315454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1919 # wgrear et ZwT FaEET § & e S 5 I Ry mar are
Options:

1. % USTe A9 s

o & T o e ghEa

3 % Fror do i 2T

4. ® e aiTE giEan

Question Number : 47 Question Id : 9662315455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As announced in the Budget of 2019,
Ernployrent Guararitee Act.

wrare gllocated for the Mahatma Gandhi MNational Rural

Options:
1. % Rs 80,000 crore

2. % Rs 60,000 crore
= % Rs 50,000 crore
4 % Rs 55 000 crore

Question Number : 47 Question Id : 9662315455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST T 2019 % a9 § OiuT e o T WETCAT T T TTeoT ST TR T STfert=rerd o fory smated forem
=T &M

Options:

1. % 20,000 FTIZ FO7
2. ¥ 60,000 FTIZ FO7
3. % 50,000 ¥ w0
4, % 55 000 FIZ FOT

Question Number : 48 Question Id : 9662315456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToreT T=m | g T ¢ Tor 2 Telgart & o U oA & Areed | TTAT Fee Hrel gf Telgart & FaTiad ST @7 uTid® & 9ad
HETeT Bl aiidw ﬁaﬁgmaﬁﬁmq@? T g

Options:

1. % gresme @7 fo=m

2 % arrer @ e
2. ¥ g @ e
4. % g o TrEm

Question Number : 48 Question Id : 9662315456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which law states that the current passing through a conductor Detweer twd points 15 directly proportional to
the potential difference across the two points provided the physical state and temperature etC. of the
conductor does not change?

Options:



1. % Pascal's Law
Z % Avogadro's Law
= % Ohr's Law

4. % Hooke's Law

Question Number : 49 Question Id : 9662315457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which among the following is used as a household cleaner when dissolved in water?
Options:

1. ¥ Ammonia

2. % pocorbic acid
= * Sodium Carbonate

4. # Propane

Question Number : 49 Question Id : 9662315457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T H Yo 0 ierrad # & ToraerT SUiT i faead o & H {97 27
Options:

1. ¢ st

2 R e S

3. ® gizad Fweie

4 % g

Question Number : 50 Question Id : 9662315458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Mirmal Bharat Abhivan was also knowr as

Options:

1. # Cleanliness Campaign

2. % Total Hygiene Campaign
2. ¥ Total Sanitation Carmpaign

4. % Sanitation and Hygiene Campaign

Question Number : 50 Question Id : 9662315458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToHa AR ST @ o AT AT T AT Am

Options:

1. % Temadr e

2 % P TaTeATdE ST

3. ¥ T ToRwaT AT

4, ¥ Tazgdr AW Tk ST

Question Number : 51 Question Id : 9662315459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Centre for Environrment Education, was initiated in 19849,



Options:

1. % Ahmedabad
2. % Kanpur

2. % Punjab

4. % Murmbai

Question Number : 51 Question Id : 9662315459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
piaRoT T e, 1989 # g T T am

Options:

1. ¥ AT
2. ® WA

z ® e

4 % gag

Question Number : 52 Question Id : 9662315460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Members of porifera phylum are cormrmonly krnown as

Options:
1. * cnidaria

Z % comb jellies
2. % flatworms

4. ¥ sponges

Question Number : 52 Question Id : 9662315460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UTET BIEAW o Haed] & HTH 1T 0
Options:

1. % et

o ® g A

Z % e g

4.V T

Question Number : 53 Question Id : 9662315461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Chara is a cormmonly found

Options:
1. ® blue

Z ¥ green
3. ® pbrown
4. % red

Question Number : 53 Question Id : 9662315461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. % Har
= W
3% A
4. % F

Question Number : 54 Question Id : 9662315462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following chernicals is used to treat water for home Consumption?

Options:

1. % Hydrogen
2. % Sodium
2. ¥ Chlorine
4. % Methane

Question Number : 54 Question Id : 9662315462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraieET Tt | & T SUT O § SUT i AT O o S0 d@ Ter e ST Ee

Options:

1. % gEghH
= % gizge
3. ¥ FANA
4. % e

Question Number : 55 Question Id : 9662315463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Osteoporosis is caused due to deficiency of

Options:
1. % Irom

2 % Calcium
2. % Jodine

4 % Protein

Question Number : 55 Question Id : 9662315463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TSI ____ T WHT & FR EIET 8

Options:

1. % s
2. o FiEiom
3 % amaiEe
4 % gEE

Question Number : 56 Question Id : 9662315464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The lake founded by the Koyna dam is called

Options:

1. % Krishna Lake

2. % Godawvari Lakes

2. % Ramakrishna Lake

4. % Shivaji Lake

Question Number : 56 Question Id : 9662315464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST G EOT S R EEEICLE

Options:

1. ¥ g gfe
2 ® g e
3. % g e
4. it =fe

Question Number : 57 Question Id : 9662315465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following is not a tributary of Narmada?

Options:

1. % Armaravati
2. % Tawa

3. % Banger

4 % Konar

Question Number : 57 Question Id : 9662315465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T # 9 ® ! T & gy T 5 57
Options:

1. ¢ ameradt

2. % gar

3 % &

4 % FHAT

Question Number : 58 Question Id : 9662315466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______________ is formed by the weathering of rocks in dry conditions.

Options:

1. % 3aline Soil
2. # Alluvial Soil
2. ¥ Arid Soil

4. % Black Soil



Question Number : 58 Question Id : 9662315466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______________ sy TeT H Ig = O aImer BT AT BT 8

Options:
1. % TAd= gar
2. % FIR T

3. ¥ g T
4. % FATHIT

Question Number : 59 Question Id : 9662315467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With which of the folln:nwing Indian states does Ehutan not share its borders?

Options:

1. # Sikkim

= % Assam

3. # west Bengal
4. ¥ Manipur

Question Number : 59 Question Id : 9662315467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETmET # § O aRd = O & A e ST ST AT An el a7

Options:

1. % &g

2. % I

3. % ghEm e
4 g

Question Number : 60 Question Id : 9662315468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

____________ made it possible to grow more crops on roughly the same amount of land with a similar amount
of effort?

Options:

1. % Green Revolution
= % Red REevolution
3. % White Revolution

4. % Elue Revolution

Question Number : 60 Question Id : 9662315468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ + HHT AT H WA & 6 AR GA G U ST B ST 69 a1 o7

Options:

1. gha @i
o % A wIE
3 % sy i



4, % it Fifd

ereral Awarenassz

Group Number : 4
Group Id: 96623167
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessz

Section Id : 966231182

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231190
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662315469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ is the highest point of Tamil Madu.
Options:

1. # Phawrgpui

2. ¥ Doddabetta

3. # Sararmati

4 % Deomali

Question Number : 61 Question Id : 9662315469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

____________ T ATZ T FH Teig 81
Options:

1. % pimgE
2. ¥ ggdg



3. ® grmdt
4 % Tt

Question Number : 62 Question Id : 9662315470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the President of the Karachi Session of Indian MNational Congress?

Options:

1. % Subhas Chandra Bose
2. % EBhagat Singh

2. ¥ Yallabh Bhai Patel

4. % Jawaharlal Mehru

Question Number : 62 Question Id : 9662315470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1 TP B oF P! | oF 2Ty #1997

Options:

1. % gum g ae
2 % g

3. ¥ I A WA
4, ¥ FAEAATA A5E

Question Number : 63 Question Id : 9662315471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where was the first session of Indian National Congress after Independence held?

Options:

1. % Jaipur

2. % Punjab
3. % Kanpur
4. ® Kolkata

Question Number : 63 Question Id : 9662315471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. & Faqt

2. ® Uaeg

3. % B
4. ¥ widwar

Question Number : 64 Question Id : 9662315472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
was the last ruler of the Khilji Dynasty.

Options:
1. % Khusrau Khan



2. % Ghazni Malile
3. % Qutb al-Din Aibak
4 % Cutbuddin Mubarak Shah

Question Number : 64 Question Id : 9662315472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEFAT T 7 ST S @m

Options:

1. v gErEe
2 % T Al

3. ® Fa-IT-dA Uaw
4 % FgeE gaRE aOE

Question Number : 65 Question Id : 9662315473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwho defeated Rana Sangrarm Singh in the battle of Khanwa?
Options:

1. # Jahangir

2. % akbar

2. % Hurmayun

4 % Babur

Question Number : 65 Question Id : 9662315473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

G 3 T | 10 T T w1 e g
Options:

1. % gt

2. % a7

5. % g

4 gEw

Question Number : 66 Question Id : 9662315474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= AT & A T @ T e & i

Options:

1. % fpre g
2. ® TEIgT AT
3. ¥ TEEN aTg
4. % A IF

Question Number : 66 Question Id : 9662315474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gave the title of Mirza Raja’ to Jai Singh of Malwa.

Options:



1. * Muharmmad Shah
= % Bahadur Shah

3. % Jahandar Shah

4. % Ahmed Shah

Question Number : 67 Question Id : 9662315475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following Mughal Emperors was also called Rangila?

Options:

1. % Muhammad Shah
2. % Bahadur Shah

3. % Jahandar Singh

4 % ahrmed Shah

Question Number : 67 Question Id : 9662315475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTeraT § & % Ot TuTe! W Ay o wET A ar?

Options:

1. ¥ HerAT aTE
2. % EEIGT AR
% % JEEr
4. % amwg g

Question Number : 68 Question Id : 9662315476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ace Against Odds' is an autobiography of

Options:

1. % Saina Nehwal
2. % Kapil Dev

2. ¥ Sania Mirza

4. % Abhinav Bindra

Question Number : 68 Question Id : 9662315476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U affiee fiEd’ T ST 21
Options:

1. % |rgT gara

2 % FiUEdd

3. g =i

4 % i fET

Question Number : 69 Question Id : 9662315477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
N has numkber of official languages.



Options:

1.9 six

. * five
3. % seven
4. % eight

Question Number : 69 Question Id : 9662315477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UM # sntéepTiea Tt &7 @ear ____ 8

Options:

1. v gy
o ® U
3. % A\
4. % 3mE

Question Number : 70 Question Id : 9662315478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ 15 knowr as father of India's space program.

Options:

1. # Jawaharlal Nehru
= % Meghnad Saha

2. ¥ Vikram Sarabhai

4. % Satish Dhawan

Question Number : 70 Question Id : 9662315478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ T ART o TG FIHFH o 0T o ©F H 7 AT 51

Options:

1. % FEEEad A5E
2. % fueTe 9T
z. ¥ g armE

4 ® Tt ae

Question Number : 71 Question Id : 9662315479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the real name of Tansen?

Options:

1. #¥ Chanpat Rai

= % Ratnakar

2. ¥ Ramntanu Pandey

4. % Raghupati Sahay

Question Number : 71 Question Id : 9662315479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TTE T T e ATH F47 57
Options:

1. % U

2. % TE

3 ¥ THAg T

4. ¥ Touid wE

Question Number : 72 Question Id : 9662315480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following wion the Filmfare award 2019 for the best actor male) in a leading role?

Options:

1. ¥ Ranbir Kapoor

2. % Avushrman Khurrana
2. % Ranveer Singh

4. % Shahid Kapoor

Question Number : 72 Question Id : 9662315480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimET & & T v srnft it & g sidaT (g2m & 00 et [Ewr 2019 Siar?

Options:
1. & T Y

2. ® TEHT G
3. % TdR iy

4. % aEte Y

Question Number : 73 Question Id : 9662315481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following 15 a Bharat Eatrnia winner in 20197

Options:

1. ¥ Ehupen Hazarika
2. % Sukhdev Singh
2. % Manoj Bajpayes

4 % Darshan Lal Jain

Question Number : 73 Question Id : 9662315481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 #Rg wd TR Meeag # 9 # 87

Options:

1. % 9 g
2. ¥ gued

3. ® N aruet
4 % g AR A

Question Number : 74 Question Id : 9662315482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which amorng the following Articles of the Indian Constitution is associated with the abolition of titles?

Options:

1.9 Article 18
2. % Article 20
3. % Article 23

4 % Article 25

Question Number : 74 Question Id : 9662315482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 1 HIEET o e ol | & R A7 St & S o J21 87

Options:

1. ¢ s 18
2 % argedg 20
3. % ardg 23
4. ¥ spEog 25

Question Number : 75 Question Id : 9662315483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____________ of the Indian Constitution deals with the Citizenship of India.

Options:

1. % Part III
2. % Part]

3. ¥ Part Il

4 % Part [V

Question Number : 75 Question Id : 9662315483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WA 127 i &7 T &l ATTIRAT § Hel T80 2l

Options:

1. % 9qmrlll
2. % 9]l

3. ¥ Tl
4. % OV

Question Number : 76 Question Id : 9662315484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which amorng the following articles deals with the right of education?

Options:

1. % Article 22
2 ¥ ATHCle 214
3. % Article 24

4 % article 26



Question Number : 76 Question Id : 9662315484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T § & 1 A1 o 15T & M@ & Jarad 57

Options:

1. % argedg 22
2 o arRdg 2l A
3. % srdg 24
4 % iy 26

Question Number : 77 Question Id : 9662315485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which Article of Indian Constitution deals with the rights of citizenship of certain persons migrated to India
from Pakistan?

Options:

1. % Article 10
= W Article &
3. % Article S
4. % Article 12

Question Number : 77 Question Id : 9662315485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 127 AT HT D | STfess ded™ & IR H WaTied HEad i & ArTiiwdT & SITEwR] § qalad a7

Options:

1. % argedg 10
2 ¥ FRET 6
3 % arEdg S
4. % arzeg 12

Question Number : 78 Question Id : 9662315486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ worl the Wormen's footballer of the vear title at All India Football Federation (AIFF) 20158-19 awards.

Options:

1. % Ashalata Devi
2. % Aditi Chauhan
3. % Sasrmita Malik

4. % Supriva Routray

Question Number : 78 Question Id : 9662315486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________  STEF AR 19 Fea o Agrd (AIFF) 2018-19 [WepR! § @07 Feaiag o1F § S &1 & =i

Options:

1. amarterar 24t
> % giafyaEm
3. % \eiraT Afve



4. % =T TEa

Question Number : 79 Question Id : 9662315487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

___________ Men’s soccer team worn 2019 CONCACAF Gold Cup by defeating United States men with 1-0in
the final.

Options:

1. * Japan
2. % China
2. % [ndia

4. ¥ Mexico

Question Number : 79 Question Id : 9662315487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ &Y HIFHT S0 o BI5-d H g (=g ST & G201 f 1-0 & g0ae 2019 CONCACAF Ties ®7 SN

Options:

1. % Fme
2 ® o9
3% ¥gRT
4 Uiereent

Question Number : 80 Question Id : 9662315488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The United States of America (J54) won FIFA Wormen's World Cup 2019 title after beating in1 final.

Options:

1. ¥ lMetherlands
2. % France

2. % Russia

4. % Brazil

Question Number : 80 Question Id : 9662315488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YT ol SAHET (USA) THEAa H ____________ I EETET T AigaAT foa &0 2019 7 M A
Options:
1. ¢ gtz
2 ® mE
3% g
4 ® FREAW
Arithmetic Ability1
Group Number : 5
Group Id: 96623168
Group Maximum Duration : 0

Group Minimum Duration : 0



Revisit allowed for view? : No

Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Abilityl

Section Id : 966231183

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231191
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9662315489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& nurnber is checked for divisibility. It is tried and divided by 32, 40, 45 and 50. It leaves a rermainder of 7 in
gach case. Find the minimum possible value of the number.

Options:

1. % 2607
2. % 2207
3. ¥ 7207

4. % 14407

Question Number : 81 Question Id : 9662315489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Terarara & To uer wRe & i & 8 B T8 32, 40, 45 ofiv 50 F T e & wifde F St 3 9 vede mee F 7 aw
Fad! Bl TR @7 AdH &9 T A1

Options:

1. % 2607
2. % 3207
3.9 7207

4 % 14407

Question Number : 82 Question Id : 9662315490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TROTTE o T 0T ol a1 o T e §iet ST 1 ® Hadr grr 10800 =t T = = anfem




Options:
1. % 4
2. % 2
3. %5
4.9 3

Question Number : 82 Question Id : 9662315490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the least number by which 10300 should e divided to malke the result a pEI’fECt SO UAare.

Options:
1. % 4
2. %2
2. %5
4 ¥ 3

Question Number : 83 Question Id : 9662315491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The remainders 7, 8 and 9 are observed when 427, 638 and 249 are divided by a number. Find the square of
the highest possible walue of the number.

Options:

1. % 4900
2. % 22500
3.9 44100
4. % 4900

Question Number : 83 Question Id : 9662315491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
997, & M O 79 @ AT § 6 427, 638 3T 249 B Uw TEa1 § T e ST g1 a1 & Igad a9d Jod ® a0 J1d w

Options:

1. % 4900
2. % 22500
2. ¥ 44100

4. % 4900

Question Number : 84 Question Id : 9662315492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat decimal of a day is a minute?

Options:

1. % 00008944
2. % 0008944
2% 000005944
4 % 008944

Question Number : 84 Question Id : 9662315492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
U Te # U 09T &7 Samae 7247 57
Options:

1.9 000085944

2. % 0006944

3% 000008944

4 % 006944

Question Number : 85 Question Id : 9662315493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 runners are practicing for a race on a circular race track. They respectively take 75, 80 and 90 seconds to
cormplete 1 1ap each. They start together and finish at the point of time when they meet again at the starting
point. By the time they first meet again, how many laps of the track have they completed together?

Options:

1. % 123
2. % 127
2% 130
4 ¥ 133

Question Number : 85 Question Id : 9662315493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 2ITE® U ATRIE 21 o UY SIS o [ol] ST & o HAM 1 o0 F T A § 75, 80 3 90 dFg F G0 oid 7l of UF
wgﬁm%aﬁfaﬁﬁgmmmﬁ%wﬁgﬁm%mﬁﬂﬁﬁﬁ% o Jo o 0T & Ugal 9 [0 5, 94 9% o U@ al
T [Rd e o0 U F R g o7

Options:
1. % 123

2. % 127
3% 130
4 ¥ 132

Question Number : 86 Question Id : 9662315494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the LCM of 120/6, 140/4, 1502, 175)7 and 2807,

Options:

1. % 700
2. % 2800
2% 1400

4 % 350

Question Number : 86 Question Id : 9662315494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1208, 140/4, 150(3, 175)7 3R 2807 & Foaq GHTHE & =TT 4
Options:

1. % 700

2. % 2200



3.9 1400
4 % 350

Question Number : 87 Question Id : 9662315495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the result when 04747474747 . is converted to a fraction?

Options:

1. % 4/9

2. ¥ 4793
2% 4771999
4. % 471999

Question Number : 87 Question Id : 9662315495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 0.4747474747 ... T UF UTTeF ST AT & a7 T0TH FAT 51T 57

Options:

1. % 419

= ¥ 47199
3% 4771999
4. % 471999

Question Number : 88 Question Id : 9662315496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Solve the following equation to find the value of X (9 x 8 s 2+ (18 x 3-8 - {18 =7 - ¥) =12

Options:
1. % 4
2. %5
3. VB
4 % 7

Question Number : 88 Question Id : 9662315496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X T Ied A @ & oy e AR g e (9 X 8 - 3+ (18 X3+ ) - (18 x 7+ H) =12
Options:

1. % 4

2 %5

3.¥ i

4 % 7

Question Number : 89 Question Id : 9662315497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zomwert 10101011 binary to decirnal.
Options:

1.¥ 171



2. % 173
3% 170
4 ® 172

Question Number : 89 Question Id : 9662315497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
10101011 STE-T & SIAAT H agel

Options:

1.¥ 171
2. % 173
2% 170
4 % 17z

Question Number : 90 Question Id : 9662315498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The expression (1.44 x 1.44 + 2.8 x ¥ + 2.8 x 2.8) i5 a perfect square. What is the value of ¥7?

Options:

1. % 144
2. % 28
3. ¥ 288

4 ® 0

Question Number : 90 Question Id : 9662315498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(144 %144+ 28 x ¥ + 2.8 x 2 8) 0% 00 a7 81 ¥ &7 goF F7 57

Options:
1. % 144
2 % 28
3. ¥ 288
4 %0

Question Number : 91 Question Id : 9662315499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average of 100 numbers is 400. The average of the first 25 numbers is 250 and the average of the next
25 numbers is 750, What is the average of the rernaining 50 numbers?

Options:
1. % Z2E0

2. % 275
3% 32K
4. % 300

Question Number : 91 Question Id : 9662315499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



100 FEmet @7 afad 400 31 U5 25 GEarsl &7 3f|a 250 § 3T SNTaT 25 wegrat @7 o T 750 51 89 S0 aEarsl &7 ofaa
T &Y

Options:

1. % 250

o ® 275

3. ® 325

4 % 200

Question Number : 92 Question Id : 9662315500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& supermarket offers shirts for sale. The offer is 20 percent for the first 2 shirts and 40 percent henceforth for
every shirt. What is the net discount on a purchase of 5 shirts of the same price?

Options:

1. % 22 percent
2. % 30 percent
2. % 36 percent
4. % 32 percent

Question Number : 92 Question Id : 9662315500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

w?ﬂﬁﬁﬁﬁﬁqﬁmw% I ST Ugel 2 9 o Tl 20 widad o 21 & sifeer 52 a2 @ T 40 uidee §1 34t
Tedl & 5 90 @1 @lg UF 9 Te a7 27

Options:

1. % confdea
2. % 30 uideT
3 % zouldeT

4 " 32 uldag

Question Number : 93 Question Id : 9662315501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A fruit seller was buying and selling mangoes. He bought different mangoes, mixed them up and sold them in
a bunch of a dozen. He bought 60 mangoes for s 720, another 150 mangoes for Rs 2400 and the last 20
marngoes for Rs 880, At what price should he sell a dozen mangoes to make an average profit of 20 percent?

Options:

1. % Rs 200
2. % Rs 160
2. % Rs 225

4. ¥ Hs 240

Question Number : 93 Question Id : 9662315501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e Tard T TH | 21T ol 157 &M J8- ST6TT- 2770 TR e, 3w 0T # I0 UF g & Toare o & f2am 3894 60
STAT &7 720 T # FWeiar, & 150 Il & 2400 707 o o # 30 aAf &1 850 w0 # |@eieEn 20 Hidad &7 o|a an S0
o 1o 39 U Toi ATHT TR $HT Y <R = E

Options:

1. % 20070



2% 160 w0
S % 205wy
4 % 240 w0

Question Number : 94 Question Id : 9662315502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 students scored 20 percent, 40 percent and 20 percent more than the average marks of the class. Find the
ratio of the marls of the 2 students.

Options:

1. # 579
2 ¥ EB:79
2% ETE
4 % 589

Question Number : 94 Question Id : 9662315502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%mﬁﬁrmmﬁmﬁﬂ?raiﬂﬁfﬁwﬁzﬂ iR, 40 widad &l 80 widud arferer sfw we T 39 3 =1 % ST @ SuTT A

Options:

1. % 579
=z ¥ ET79
3% BTE
4 % 539

Question Number : 95 Question Id : 9662315503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An article is being sold at a discount of 20 percent and a tax of 10 percent is applied thereafter. If the selling
price is Rs 176, then what was the cost price?

Options:

1. % Es 180
2 ¥ Rs 200
2. % Hs 240

4 % Hs 250

Question Number : 95 Question Id : 9662315503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

ek |IHTH 20 Wi w1 ge W sl SI1a7 § ST 36 oflg, 10 Wi & @ @ o TT AT 51 Aie oerd §rd 176 200 5, 1 0 grd
T 77

Options:

1. % 180 %07
= % 200 By
2% 240 w0
4. % 250 w7

Question Number : 96 Question Id : 9662315504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

A& farmer distributed his land amongst his 2 sons. The eldest son got 40 percent of the land. The youngest sor
got 2/ 3rd of the rernaining land and the second son got the land left over. If the second son got 20 acres of
land as his share, how much land did the farmer own?

Options:

1.9 100 acres
2. % B0acres
2% 120 acres

4. % 498 acres

Question Number : 96 Question Id : 9662315504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T = a0 3 <2t o o Q1T TH o1eh o2 s B 40 Tidad S e mﬁaﬁ%éﬁaﬁazﬁgﬁmﬁ:rquﬁrg\;mﬁm
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Options:

1. v 100 g&e
2 % 50 UFHS
2. % 120 Uwg
4. % 96 UHT

Question Number : 97 Question Id : 9662315505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& retailer sells vegetables 1o custorners at the cost price. Howeewer, he cheats by weighing 80 grams less per kg,
How much profit does he make?

Options:

1. % 2 percent
2. % 10 percent
2. % § percent

4. ¥ B percent

Question Number : 97 Question Id : 9662315505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

w@%%mﬁﬁmnﬂmﬂﬁﬁm% STATIE, aF Uid kg S0 UTH FH & F¢ A &1 37dT 51 J5 a1 AR
THET &

Options:

1. % 2 e
2. % 10 uidea
= % e

4 & g uideT

Question Number : 98 Question Id : 9662315506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
X bought 20 articles at a certain price. He s0ld 16 articles for the same price. How much pI‘Ofit did he malse?

Options:
1. % 20 percent
Z ¥ 25 percent



. % 30 percent
4 % 35 percent

Question Number : 98 Question Id : 9662315506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥+ ue R g W 20 S0 OGN S6 ARl BT U 16 S sl 36 T an ey

Options:
1. % 20 uigerT

= W o5 idad
=z % 3ouhaT
4, % 35 it

Question Number : 99 Question Id : 9662315507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& shoplkeeper bought & shirts for Rs 1000 each. He sold 2 shirts for Rs 800, At what price each should he sell
the other 2 shirts in order to gain an overall of 20 percent?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Rs 2300

2 Rs 2400

3 Rs 1800

4 Es Z100

Question Number : 99 Question Id : 9662315507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T 1000 #0 H 5 ¢ |G FE- 200 T H 2 97 ol el e 20 Widad &7 ard T & T30 3¢ o Fiug w
mgmﬁmﬁfﬁj e ATE?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. 2300 707

2. 2400 77

3. 1800 77

4. 2100 Fr

Question Number : 100 Question Id : 9662315508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Find the ratio of the sum of the first 4 prime numbers and the sum of the first 4 composite numbers.

Options:

1. % 16:25
2. % 1827
3.9 1727
4 % 19:25



Question Number : 100 Question Id : 9662315508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UERT 4 aFfTee HEaTar o T T SRUTT &fF UgaT 4 Hoh Searel] & A 1T @)

Options:

1. % 16:2E

2. % 1827

3.9 1727

4. % 19:25
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Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20
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Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Abilityz
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Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662315509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the ratio between 1 foot and 1 inch?

Options:

1. % 10:1
2 ¥ 121
= 0% 151
4 % 201



Question Number : 101 Question 1d : 9662315509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 B 81T 1 S o e T SR T4 57
Options:

1. % 101

2. ¥ 12:1

2% 151

4 % 201

Question Number : 102 Question Id : 9662315510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& nammber is divided into 4 parts such that 2/ 2rd of the first part, 2/5th of the second part, a quarter of the
third part and 1j&th of the 4th part are the same. If the 4th part is 600, find the nurmber.

Options:

1.9 1400
2. % 1200
2% 1500

4. % 1800

Question Number : 102 Question Id : 9662315510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT BT 4 W H T T T B e ToF Ul W T 2 3 5, GEY W T 2 S, S e I T o ST # 4 |
16 a7 AT 90 71 Iie 4 a7 90 600 &, 7 FE0 1 i

Options:

1.9 1400
2. % 1200
2% 1500
4 % 1800

Question Number : 103 Question Id : 9662315511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ borrows Es 100000 at 10 percent compound interest for = years and lends Rs 200000 after 1 year at 20
percent compound interest. How rmuch is his interest earnings after 3 years?

Options:

1. % Rs 54900
2. % Rs 27450
2. % Rs 44000

4 % Hs 52350

Question Number : 103 Question Id : 9662315511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
K 39 & o0 10 UieT gddieg 290 08 100000 FO0T FW a7 2 o 20 Wided aFdks =4 0 1 2 & a1g 200000 F07
TR T8 = O &1, JHET <201 &1 3 a1 87

Options:



1. % S4900 707
2. % 27450 w0
3% 44000 0
4 % F2350 o

Question Number : 104 Question Id : 9662315512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& principal of Rs 20000 amounted to Bs 20000 in © yvears tirme at simple interest. The rate of interest for the
first = years was 8 percent p.a. What was the rate of interest for the last 2 years each?

Options:

1. % 1050 percent
2. % 12 percent

2. % 1250 percent

4. ¥ 13 percent

Question Number : 104 Question Id : 9662315512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT 527 0% 20000 F07 % Jee= S a9 & a0 # 30000 F07 51 7= Ugel 3 a1 & [0 s &1 3¢ 8 Widwd «h uid af
Tie 2 8] & =47 2% Fa7 417

Options:

1. % 1050 uideT
2. % 12 uidem

3. % 1250 0T
4. ¥ 13 nideT

Question Number : 105 Question Id : 9662315513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The rate of compound interest is 10 percent p.a. Find the ratio of increase in the amount from the 9th year to
the 10th wear.

Options:

1. % 4911
2. ¥ 10011
2% 3211
4 % 12:11

Question Number : 105 Question Id : 9662315513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
10 wid e uid 9y aebgiyg s @l ar & 9 S o & 10 < af T &1 0fdr § ghg #7 agua A #)

Options:

1. % 4911
2 ¥ 10:11
2% 511
4 % 12:11



Question Number : 106 Question Id : 9662315514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ takes a walk in the park every morning. ©ne day, he was not fully fit, so his speed reduced by 20 percent
and it took him 15 minutes more to finish the same distance. What is his original speed if the park covers a
distance of 10 lans?

Options:

1. % 125km/h
2. % Skmih

2. % Zkmih

4 % 10km/h

Question Number : 106 Question Id : 9662315514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X =TT ey e i AT 21 Uk T, ag O ST TET o, ST JaET M 20 nidad w1 S 39 3w e
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Options:

1. % 125km/h
2. % Skmih

2 % Bkmih

4 % 10km/h

Question Number : 107 Question Id : 9662315515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& man starts off on a journey. The first half of the journey's distance was covered at 10 krmfh and the second
half at 20 kmfh. If he travels for 12 hours in total, how much distance did he cover?

Options:

1. % 120 km
2. % 150 km
2 ¥ 180 km

4. % 240 km

Question Number : 107 Question Id : 9662315515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ATEHT AT U TaedT 81 T137 & Zal &7 U7 10 bk h 3% ATT 20 k& T & 7 9 mam em ot a9y
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Options:
1. % 120 km

2. % 150 km
3. ¥ 180 km
4 % 240 km

Question Number : 108 Question Id : 9662315516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Twrd CArs practice racing orl a circular race traclk. The time taken by therm to cowver 1 lap is 150 seconds and

240 seconds respectively. If they start together at noon, by the time they meet next, how many laps would the
faster car hawve done more than the slower car?



Options:
1. % 4
2. ¥ 3
3% B
4 % 5

Question Number : 108 Question Id : 9662315516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FEIRED IS 3 T SIS T SR FedT 51 I ZT 1 &7 & =] o ToT Tet=im T 0 #4150 S 3T
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Options:
1. % 4
2. ¥ 3
285
4 % 5

Question Number : 109 Question Id : 9662315517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

M, W and O can complete a task in 20 days while worlang together. M and M can cornplete the task in =0 days.
I and O can also complete the task in 30 days. In how many days can M alone cornplete the task?

Options:
1. ¥ B0
2. % G6
3w T2
4 % 75

Question Number : 109 Question Id : 9662315517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

M, ;Iﬁaﬁ%o TR |1 T e U 20 TaAt # wTH e w81 M S N @ @ 30 Tt A awd § M Ao | 30 gt d wm
T

Options:
1. ¥ E0
2. %GB
3% 72
4 % 75

Question Number : 110 Question Id : 9662315518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& tank with capacity 100 litres has 2 openings with a pipe fit into each one of the openings. Two pipes fill in
the water and 1 pipe draws out the water. The pipes that fill in the water fill it at the rate of 10 litres per
minute and & litres per minute and the pipe that draws water does it at the rate of 20 litres per rminute. &fter
filling the tank using both the pipes for 5 minutes, the 3rd pipe is also opened up. Which of the following
options holds true?

Options:

1. ® The tank gets filled up in next & minutes

2. % The tank gets empty in next 45 minutes



2. % The tank gets filled up in next 45 minutes

4 % The tank gets empty in rext 5 rminutes

Question Number : 110 Question Id : 9662315518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TTHT AT T UTE 56 10 #iee 0id fime o § #fer uid Fee &t o & s § o 1 uey oet dieaT & a5 56 20 #ied i
fﬁaﬂg?% S Time @ Torg ST uTef @ SUiT S T o A O e, o T s df EiET AT 8 FaierEd § § w i

GINGETR" ;

Options:

1. % T el 5 e # 9 St
2. ¥ T 45 T | =ET gr AT
3. % T 45 e # 9 St

4, % T U e H g gt ST

Question Number : 111 Question Id : 9662315519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A task was supposed to be completed by 12 men in 2 days, but due to an urgency, few more people were
emnploved to finish the work in € days. How many more people were ernploved?

Options:
1. %2
2 ¥4
3% 3
4 % g

Question Number : 111 Question Id : 9662315519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 2
= ¥4
2% 8
4 % g

Question Number : 112 Question Id : 9662315520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A trapezium plot has an area of 250 sq m. The height measures 20 m and one of the parallel sides is 50
percent greater than the other one. Find the srmaller parallel side.

Options:
1. % 5m

2. ¥ 10m
2 % 15m
4 % z20m



Question Number : 112 Question Id : 9662315520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 5m

2. ¥ 10m
2 % 15m
4 % z20m

Question Number : 113 Question Id ;: 9662315521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& cuboid has sides measuring 144 cm, 12 cm and 3.3 o It is reformed into a cube. Find the diagonal of the
Cule.

Options:

1. % 2Z3cm
2. % 345cm
3. ¥ 36 cm
4 % 42 cm

Question Number : 113 Question 1d : 9662315521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T WA W T 144 o, 12 o % 3+/3 om 81 58 9 8 eI ST 81 o F T 1w

Options:

1. % 23 cm
2. % 345cm
3. ¥ 26 cm

4. % 42 cm

Question Number : 114 Question Id : 9662315522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of the base and height of a right triangle is 3:4 and the area is 150 s5q cm. Find the perimeter of the
triangle.

Options:

1. % 50cm
2 % 5Scom
2. % L7 Sam
4 ¥ E0cm

Question Number : 114 Question 1d : 9662315522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T |HE 0T 20 o SITelE S s @7 iguTd 314 & 8 830 150 5q o 81 T3 &7 ofea 31a w4
Options:

1. % 50cm

2. % BECm



3. % 57 Som
4 ¥ G0 cm

Question Number : 115 Question 1d : 9662315523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart depicts the allocation of the revenue towards the expenses of a particular cormpany. The
company's sales are Rs 500000 and the company earns 25 percent on its cost price. What is the cost of raw
materials for the company? The numbers in the pie chart are in proportion to the company's expenses.

Distribution of the expenses of Company A

Fmance,7.5
Delivery,15
Raw
Materials. 40
Administration,
17.5

Wages,20

Options:

1. % Rz 80000
2. % REs 100000
= ¥ B3 160000
4, % RBs 120000

Question Number : 115 Question Id : 9662315523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE e | TRt R st 3wt & T Oreed O sTTdeT o 2t T 31 st & fEE T 500000 Ty § A dEt st A
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farmon,15
FEUT AT,
40

T,
17.5

Options:
1. % 20000 U
= % 100000 FT

I % 1680000 T



4. % 120000 s

Question Number : 116 Question Id : 9662315524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart shows il rupees the revenues and yarious expenses for a firm for the current financial vear, The

profit margin is assumed to be increased by 20 percent using the projections for the upcoming financial year.
What is the projected profit margin?

Revenue and various expenses for a firm

Delivery, 30000 Finance, 10000
Administration,
20000
Wages.
60000

Revenue,

300000
Raw
Materials,
150000

Options:

1. % 20 percent
2. ¥ 12 percent
= % 10 percent
4, ¥ 25 percent

Question Number : 116 Question Id : 9662315524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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fareroT, 30000 farem, 10000
TUTE, 20000

T, 60000

Trered, 300000

FTU AIH,
150000

Options:

1. % 20 e
2. ¥ 12 uideT
= % 10 e
4. % 25 OideT



Question Number : 117 Question 1d : 9662315525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The table shows the various annual expenses of a firm from 2014-2018. The revenues of 2016 and 2018 are
Rs 2400000 and Rs 4500000 respectively. By how rmach is the profit margin of 2018 is more than the profit
margin of 20167

Year Particulars

Raw Materials| Wages | Administration| Delivery| Finance
2014 500000 150000 400000 200000 | 200000
2015 900000 200000 400000 250000 | 250000
2016 450000 225000 625000 250000 | 250000
2017 600000 200000 400000 250000 | 400000
2018 750000 250000 500000 300000 | 450000

Options:

1. ¥ 50 percent
2. % 120 percent
= ¥ 100 percent
4, % 75 percent

Question Number : 117 Question Id : 9662315525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTEET 2014 F 2018 T%F UF BH o g G i @1 2aid 81 2016 3T 2018 7 Taed ®HS 2400000 F7 T
4500000 T 81 2018 T AT A4 2016 & &R AT & Trar a1 27

faavor
T FETHAE| da9 | veme | fdavur | fas
2014 500000 | 150000 | 400000 | 200000 | 200000
2015 900000 | 200000 | 400000 | 250000 | 250000
2016 450000 | 225000 | 625000 | 250000 | 250000
2017 600000 | 200000 | 400000 | 250000 | 400000
2018 750000 | 250000 | 500000 | 300000 | 450000
Options:
1. ® 350 ufidea

o % 20 g
Z. ¥ 100 gidad
4 # 75 uigaT

Question Number : 118 Question 1d : 9662315526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The histogram shows the rans scored by eleven cricket players named P1,P2 P3 P4, . F11 in their respective
careers which lasted for 9 yvears. Runs scored by which player are the same as the difference between the
AT and munirmarm rans scored?

Runs Scored
EEEERE

PL P2 P} P4 PS P6 P7 P8 P9 P10 P
Cricket Player

Options:
1. % p1
= % p3
3 % pq
4 ¥ P10

Question Number : 118 Question Id : 9662315526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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12000
10000

8000 16900
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Options:
1. % p1

o #®p3
3 % pg
4 ¥ P10

Question Number : 119 Question Id : 9662315527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following bar chart shows the quantity (in million kg) of jute exported by India from 2013-2018. By how
much is the average export from 2016-2018 greater than the average export in the given period?

0000 75000
70000
_E 60000 0000 52500
o 50000 45000
40000
&' 40000 e
(1]
o 30000
=S 20000
10000
0
2013 2014 2015 2016 2017 2018
Year
Options:

1. % 10 percent
2. % 15 percent
3. % S percent
4. ® 567 percent

Question Number : 119 Question Id : 9662315527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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75000
70000
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40000 baad

20000

10000

0

2013 2018

014 2015 2016 2017
T

Options:

1. % 10 nidem
2. % 15T
3. % SooidaT

4 % g 67 uldaT

Question Number : 120 Question Id : 9662315528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line chart shows the profit (in thousand rupees) of a firm for vears 2010-2018. Which year has exactly
the same profits as the average profits of the given period?

ol

M0 4

15 4

10 4

5 4

Profit of a firm

0 -
2010 2011 2012 2013 2014 2015 2016 2017 2018

Year

Options:
1. % 2013

> ® 2014
=z % 2016
4 ¥ 2017

Question Number : 120 Question Id : 9662315528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR AR a9 2010-2018 & 77 Ue B & @ (591 700 /) & 39197 51 o5 o # Ty T arater & o6 T o & 96 51 a9 57

5 -

[
[=]

st
WA
s

TF BH FT N
=

5 4
u 4
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I
Options:
1. % 2013
2 % 2014
=z % 2016
4 ¥ 2017
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Question Number : 121 Question Id : 9662315529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "Moo error”
option.

) Atul sanded ) (B) the wood with ) () course sandpaper. | (O No error
Options:
1. % 4
2. % B
IV
4 % D

Question Number : 121 Question Id : 9662315529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

) Atul sanded ) (B) the wood with [ (C) Ccourse sandpaper. | (O No error
Options:
1. % 4
2. % B
2V
4 % D



Question Number : 122 Question Id : 9662315530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) The shelf is| (E) to high for her( (C) to reach. | {O) No error
Options:
1. = A
2. ¥ E
o= C
4 = D

Question Number : 122 Question 1d : 9662315530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

&) The shelf is| (E) to high for her( (C) to reach. | (D) Mo error
Options:
1. %= 4
2. % E
3% C
4 % L

Question Number : 123 Question Id : 9662315531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "No error”
option.

A Tory's paw was| (B) wet from the dew | (C) on the law. | O No error
Options:
1. % A
z. % E
3%
4 ¥ D

Question Number : 123 Question Id : 9662315531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "MNo error”
option.

A Tormmy's paw was| (B) wet from the dew | (Z) on the lawr. [ D) Mo error
Options:
1. % 4



2. % B
3% C
4 ¥ D

Question Number : 124 Question Id : 9662315532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "Moo error”
option.

&) Seerna escaped tof (B) the library for some| (2) peace and quietly. | (D) No error
Options:
1. % 4
2. % E
IV
4 % D

Question Number : 124 Question Id : 9662315532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

(&) Seermna escaped tof (B) the library for some/ () peace and quietly. § (D) No error
Options:
1. % 4
2. % B
2V
4 % D

Question Number : 125 Question 1d : 9662315533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) Sakshi had been | (E) excited from/ (Z) she got up. | (D) No error
Options:
1. % 4
2. ¥ E
% C
4 % D

Question Number : 125 Question Id : 9662315533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) Sakshi had been | (E) excited from/ (Z) she got up. | (D) No error

Options:

1. % 4

2. ¥ B

3% C

4 ® D

Question Number : 126 Question Id : 9662315534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segment correctly and completes the
sentence meaning fully.

Fama (s livirng) in the towrl sirnce 1997,
Options:

1. % has been living

2. % had lived

2. % has living

4. ¥ Mo correction

Question Number : 126 Question Id : 9662315534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

Fama (is living) in the towrl since 1997,
Options:

1. ¥ has been living

2. % had lived

2. % has living

4. % Mo correction

Question Number : 127 Question Id : 9662315535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Select the word segrment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

There is no {deny) the fact.
Options:

1. % denial

Z ¥ denving

2 % was denied

4. % Mo correction



Question Number : 127 Question Id : 9662315535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

There is no {deny) the fact.
Options:

1. % denial

= ¥ denving

2 % was denied

4. % Mo correction

Question Number : 128 Question Id : 9662315536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

Mo sooner did Sirmran reached when) the bus left.
Options:

1. % reach than

2. % reached then

= % reach when

4. % Mo correction

Question Number : 128 Question Id : 9662315536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sertence meaningfully.

Mo sooner did Simran (reached when) the bus left.
Options:

1. ¥ reach than

2. % reached then

2. % reach when

4. % Mo correction

Question Number : 129 Question 1d : 9662315537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

The crowd (gatherad) to protest against the law.
Options:

1. * gathering

2. % gather

2. % has gathering

4 % No correction



Question Number : 129 Question 1d : 9662315537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

The crowd (gatherad) to protest against the law.
Options:

1. * gathering

2. % gather

2. % has gathering

4. % IO correction

Question Number : 130 Question Id : 9662315538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sentence meaning fully.

Smoking tobacoo can [@dversely affect) vour lungs and blood flow.
Options:

1. * adwverse affected

2. % adwversely effect

2. % adverse effected

4. % No correction

Question Number : 130 Question Id : 9662315538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

Smoking tobacco can @adwversely affect) your lungs and blood flow.
Options:

1. * adwerse affected

2. % gdversely effect

2. % adwverse effected

4 % No correction

Question Number : 131 Question Id : 9662315539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

They were still for Karishrma to arrive.

Options:

1. % wait

2. % wymited
3. ¥ waiting

4. % hawve wait



Question Number : 131 Question 1d : 9662315539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

They were still for Karishrma to arrive.

Options:

1. % wmit

2. % writed
3. ¥ witing

4. % hawe wait

Question Number : 132 Question Id : 9662315540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Wwhat we need to do is not fool ourselves and rermain _________ about the issue of doping in baseball.
Options:

1. % scurrilous

2 ¥ SAnCHImonious

3. % sanguine

4. % sagacity

Question Number : 132 Question Id : 9662315540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

what we need to do is not fool ourselves and remain _________ about the issue of doping in baseball.
Options:

1. % scurrilous

2. ¥ sanchmonious

. % sanguine

4. % sagacity

Question Number : 133 Question 1d : 9662315541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The judge acquitted the Criminal theft.

Options:
1. % of

2% at
3% in

4. % on

Question Number : 133 Question Id : 9662315541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

The judge acquitted the criminal _____ theft.

Options:
1. % of

Zo% at
3% In

4 % on

Question Number : 134 Question 1d : 9662315542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Loweis ________ to blind man.
Options:

1. * compare

2. ¥ compared

2. % comparing

4. % Comparison

Question Number : 134 Question Id : 9662315542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Loveis ________ to blind man.
Options:

1. # compare

= ¥ compared

3. % Comparing

4. % Comparison

Question Number : 135 Question Id : 9662315543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Anita _________ herself to dance.
Options:

1. % desirous

2. % disgusted

= % disliked

4 % devoted

Question Number : 135 Question 1d : 9662315543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes the sentence meaning fully.

Anita _________ herself to dance.

Options:
1. % desirous

2. % disgusted
3. % disliked
4. 9 devoted

Question Number : 136 Question Id : 9662315544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

___________ hundred rupees to the team fund.
Options:

1. # contribute

2. % contribution

2. ¥ contributed

4. % contributing

Question Number : 136 Question Id : 9662315544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

___________ hundred rupees to the teamn fund.

Options:
1. % contribute

o % contribution
= ¥ contributed

4 % contributing

Question Number : 137 Question 1d : 9662315545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Falkesh's _________ manner betrayed the fear he felt at the moment.
Options:

1. * temerity

2. % tacit

2. ¥ timorous

4. ¥ teriuous

Question Number : 137 Question Id : 9662315545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Falesh's manner betrayed the fear he felt at the moment.



Options:

1. * temerity
2. % tacit

2. ¥ timorous

4. # tenuous

Question Number : 138 Question Id : 9662315546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The heawvy meal and the overheated roorm made us all
Options:
1. ¥ somnolent

and indifferent to the speaker.

o % solicitous
3. % zervile

4. % spurious

Question Number : 138 Question 1d : 9662315546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The heavy meal and the overheated room made us all and indifferent to the speaker.

Options:
1. % somnolent

2. % solicitous
2. ¥ servile

4. % spurious

Question Number : 139 Question Id : 9662315547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Cut of four options given, select the most
logical order of the parts which form a coherent sentence.

The Indian elemerntary:

F . and structured
O is far less rigid
R : school systerr
5 : than the American systermn

Options:

1. % PORS
2. ¥ ROPS
2. % SPRQ
4 % QRSP

Question Number : 139 Question Id : 9662315547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

The Indian elementary:

F . and structured
iz far less rigid
R : school systern
S : than the American systermn

Options:

1. % PQRES
2. % ROPS
= % SPRO
4 % QRSP

Question Number : 140 Question Id : 9662315548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Hiring outside consultants:

P among top-ranking

O companies and the hype will
E 15 just a status quo

S : probably not last for long

Options:

1. % QSPR
2. % SORP
2. % PROS
4 W RPOS

Question Number : 140 Question Id : 9662315548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Hiring outside consultants:

P among top-ranking

O companies and the hype will
E 15 just a status quo

S : probably not last for long

Options:

1. % QSPR
2. % SORP
2. % PROS
4 W RPOS
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Question Number : 141 Question Id : 9662315549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled P, O, R and 5. Select the opticon that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

Fsychohistory does not merely use psychological explanations in historical contexts:

P : Historians have always used such explanations when they were appropriate and when there was sufficient
avidence for them

3 : This cormmmitrnent precludes a corrumitrment to history as historians have always understood it

E : They are cormuritted, not just to psychology in general, but to Freudian psychoanalysis.

S : But this pragmatic use of psychology is not what psycho-historians intend.

Psychohistory derives its facts not from history, the detailed records of events and their consequences, but
from psychoanalysis of the individuals who make history.

Options:

1. % QS5PR
2. % REQP
2. % SPOR
4 W PSR



Question Number : 141 Question Id : 9662315549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumnbled up, and labelled F, ©, K and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

Psychohistory does not merely use psychological explanaticons in historical contexts:

P : Historians have always used such explanations whern they were appropriate and when there was sufficient
evidence for them

3 This cormmmutinent precludes a cormurutinent to history as historians have always understood it

E : They are cormrmitted, not just to psychology in general, but to Freudian psychoanalysis.

S : But this pragmatic use of psychology is not what psycho-historians intend.

Psychohistory derives its facts not from history, the detailed records of events and their consequences, but
from psychoanalysis of the individuals who make history.

Options:

1. % OSPR
2. % REQP
2. % SPOR
4 ¥ PERO

Question Number : 142 Question Id : 9662315550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate SYNOMNYM of the word given belows.

INTRICATE
Options:

1. % Complicated
2. % Regulated
2. % Skilled

4. % Unskilled

Question Number : 142 Question 1d : 9662315550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate SYINOMNYM of the word given belows,

INTRICATE
Options:

1. ¥ Complicated
2. % Regulated
2. % Skilled

4. % Unskilled

Question Number : 143 Question Id : 9662315551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate SYINONYM of the word given below.

ELUNT
Options:



1. ® Calm
= % Keen
3. % Cruel
4.« Dull

Question Number : 143 Question 1d : 9662315551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate SYINONYM of the word given below.

ELUMNT
Options:
1. % Calm
2. % Keen
3. % Cruel

4. % Dull

Question Number : 144 Question Id : 9662315552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate ANTONYM of the word given below.

HASTY

Options:

1. * Insignificant
2. % Danger

3. % Abrupt

4. % Cautious

Question Number : 144 Question Id : 9662315552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate ANTONYM of the word given below.

HASTY

Options:

1. * Insignificant
= % Danger

3. * Abrupt

4. % Cautious

Question Number : 145 Question 1d : 9662315553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate ANTOMNYM of the word given below.

DEFEAY
Options:
1. % Approve
2. % Disclaim



3. % Smart
4. % Spend

Question Number : 145 Question 1d : 9662315553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate ANTONYM of the word given below.

DEFEAY
Options:

1. % Approve
2. ¥ Disclaim
2. % Smart
4 # Spend

Question Number : 146 Question Id ;: 9662315554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate ANTONYM of the word given below.

FAMNATICAL
Options:

1. % Cpen-rrinded
= % Strong

3. #® Mistake

4. #® Azpire

Question Number : 146 Question Id : 9662315554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is the most appropriate ANTONYM of the word given below.

FANATICAL
Options:

1. ¥ Open-minded
= % Strong

3. ® Mistake

4. % Aspire

Question Number : 147 Question 1d : 9662315555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Monotonusiness
2. ¥ MOnotonousness
3. # Monotnouscess

4. % Monotornosness



Question Number : 147 Question Id : 9662315555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Monotonusiness
2. ¥ Monotonousness
3. # Monotnouscess

4 % Monotonosness

Question Number : 148 Question Id : 9662315556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. % Deteriarotion
Z % Detarioration
3. % Detetioration

4 % Deterioration

Question Number : 148 Question Id : 9662315556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Deteriarotion
2. # Detarioration
3. # Detetioration

4 % Deterioration

Question Number : 149 Question Id : 9662315557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. ® Homungous
Z % Humongus
2. # Homoungous

4. ¥ Hurnongous

Question Number : 149 Question Id : 9662315557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Homungous
2. ® Humongus
3. % Homoungous

4. % Hurmongous



Question Number : 150 Question Id : 9662315558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

Ee in the mire

Options:

1. % To be depressed

2. % Tomake in guess

2. ¥ To be in a difficult situation

4 % Tobe confused

Question Number : 150 Question Id : 9662315558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

Ee in the rmure

Options:

1. # Tobe depressad

Z % Tormake in guess

2. ¥ To be ina difficult situation

4 % Tobe confused

Question Number : 151 Question Id : 9662315559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idicm or phirase giverl beloswe,

& bee in bonnet

Options:

1. % Tobe i a controversy

2. ¥ An obsession about something
2. % Tomisjudge the situation

4 * Tomake someone feel uncomfortatble

Question Number : 151 Question Id : 9662315559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

A ee in bonnet

Options:

1. % Tobe in a controversy

2. ¥ An obsession about something
2. % Tomisjudge the situation

4 % Tomake someone feel uncomfortable

Question Number : 152 Question Id : 9662315560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or plirase giverl below,

In a jiffy

Options:

1. % Inaloss

2. ¥ Inahurry

2. # To help someons

4 % Todorminate sorneons

Question Number : 152 Question 1d : 9662315560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

In a jiffy

Options:

1. % Inaloss

2. ¥ Inahurry

2. % To help someons

4. # To dorminate someons

Question Number : 153 Question Id : 9662315561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate ‘one word ' for the expression given below.

One who runs away from justice
Options:

1. % Demagogue

= % Fatalist

3. ¥ Fugitive

4. % Epicure

Question Number : 153 Question Id : 9662315561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expression givern below.

One who runs away from justice
Options:

1. % Dermagogue

2. % Fatalist

2. ¥ Fugitive

4. % Epicure

Question Number : 154 Question 1d : 9662315562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ‘one word ' for the expression given below.

A patient with irmaginary symptorrs and ailments
Options:

1. ¥ Hypochondriac

2. % Henpeck

3. % Heretic

4. % Fanatic

Question Number : 154 Question Id : 9662315562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate ‘one word ' for the expression given below.

& patient with imaginary symptoms and ailrments
Options:

1. % Hypochondriac

2. % Henpeck

2. % Heretic

4. % Fanatic

Question Number : 155 Question Id : 9662315563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expression givern below.

& collection of wild animals kept in captivity for exhibition
Options:

1. % Morgue

2. % Lair

=. * Hutch

4 ¥ Menagerie

Question Number : 155 Question 1d : 9662315563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate ‘one word ' for the expression given below.

A collection of wild animals kept in captivity for exhibition
Options:

1. % Morgue

2. % Lair

2= % Hutch

4. 9 Menagerie

Sub-Section Number: 2
Sub-Section Id: 966231195
Question Shuffling Allowed : Yes



Question Id : 9662315564 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the passage carefully and answer the givern questions:

& yvoung Venetian, Eassanio, needs a loan of three thousand ducats so that he can woo Portia, a wealthy
Yenetian heiress. He approaches his friend Antonio, a merchant. Antonio is short of money because all his
wealth is invested in his fleet, which is currently at sea. He goes to a Jewish money lender, Shylock, who hates
Antonio because of Antonio’s anti-semitic behaviour towards him.

Shylock nevertheless agrees to make the short-term loarn, but, in a moment of dark hurmour, he makes a
condition - the loan must be repaid in three months or Shylock will exact a pound of flesh from Antonio.
Antonio agrees, confident that his ships will return in time. Because of the terms of Portia’s father’'s will, all
suitors must choose from ameong three caskets, one of which contains a portrait of her. If he chooses that he
may marry Portia, but if doesn’t he must vow never to marry or court another worman. The Princes of Moroooo
and Arragon fail the test and are rejected. As Bassanio prepares to travel to Belmont for the test, his friend
Lorenzo elopes with Shvlock’s daughter, Jessica. Bassanio chooses the lead casket, which Corntains her picture,
and Portia happily agrees to marry him inmmediately.

Sub questions

Question Number : 156 Question Id : 9662315565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ANtonio was short of money because

Options:
1. % he spent his entire money in his daughter's wedding

2. % heinvested his entire money in his daughter's education
2. ® he invested his entire money in travelling

4. % he invested his entire money irl his fleet.

Question Number : 157 Question Id : 9662315566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was Shylock?

Options:

1. % A& young Venetian

2. ¥ A Jewish money lender
2. % A merchant

4. % & Prince of Morocco

Question Number : 158 Question Id : 9662315567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did Shylock hate Antonio?

Options:

1. % He was very poor

= % Because of his anti-sernitic behaviour towards Shylock.
3. % Because he warnted to woo Portia

4. % Because he wanted to marry his daughter



Question Number : 159 Question Id : 9662315568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jessica was the daughter of

Options:
1. % Lorenzo

2. ¥ Shylock
3. ¥ Bassanio
4. % Portia

Question Number : 160 Question Id : 9662315569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eassanio needed a loan of three thousand ducats so that

Options:
1. % he could woo Portia

2. % he could invest the money in his fleet
3. % he could pay for his kid's education

4 % he could travel the world

Question Id : 9662315564 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Eead the passage carefully and answer the given questions:

& young Venetian, Eassanio, needs a loan of three thousand ducats so that he can woo Portia, a wealthy
Venetian heiress. He approaches his friend Antonio, a merchant. Antonio is short of money because all his
wealth is invested in his flest, which is currently at sea. He goes to a Jewish money lender, Shylock, who hates
Antonio because of Antonio’s anti-semitic behaviour towards hirm,

Shylock nevertheless agrees 1o make the short-term loan, but, in a moment of dark humour, he makes a
condition - the loan must be repaid in three months or Shylock will exact a pound of flesh from Antonio.
Antonio agrees, confident that his ships will return in time. Because of the terms of Portia’s father’'s will, all
suitors must choose from among three caskets, one of which contains a portrait of her. If he chooses that he
may marry Portia, but if doesn’t he must vow never to marry or court another wornan. The Princes of Morocco
and Arragon fail the test and are rejected. As Bassanio prepares to travel to Belmmont for the test, his friend
Lorenzo elopes with Shylock's daughter, Jessica. Bassanio chooses the lead casket, which contains her picture,
and Portia happily agrees to roarry him irrmmediately.

Sub questions

Question Number : 156 Question Id : 9662315565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Antonio was short of money because

Options:

1. * he spent his entire money in his daughter's wedding

2. * he invested his entire money in his daughter's education
2. % heinvested his entire money in travelling

4. % he invested his entire money inl his fleet.

Question Number : 157 Question Id : 9662315566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Who was Shylock?

Options:

1. % A young Venetian

2. ¥ 4 Jewish money lender
% % A merchant

4 % i Prince of Morocco

Question Number : 158 Question Id : 9662315567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did Shylock hate Antornio?

Options:

1. # He was very pocr

=. ¥ Because of his anti-semitic behaviour towards Shylock.
= % Berause he wanted to woo Portia

4. % Because he wanted to marry his daughter

Question Number : 159 Question Id : 9662315568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jessica was the daughter of

Options:
1. % Lorenzo

2. ¥ Shylock
3. ¥ Bassanio
4 % Portia

Question Number : 160 Question Id : 9662315569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eassanio needed a loan of three thousand ducats so that

Options:

1. % he could woo Portia

=. % he could invest the money in his fleet
= % he could pay for his kid's education

4 % he could travel the world

Zeneral Hindil

Group Number : 9

Group Id: 96623172
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No
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Group Marks: 20
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Section Marks: 20
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Sub-Section Id: 966231196
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Question Number : 161 Question Id : 9662315570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToiafET ng & aw et § 9, 39 Heey @7 o9 & S 30! & @ Jeg &1 981 J2I500 951 51

Options:

1. % aTemaT
2 % gideai
S % Oy
4« i

Question Number : 161 Question Id : 9662315570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ooty mg  ow Hwedt § 9, 39 Hwed @7 =g w6 57 JUe & @ Jeg 1 95T S5 Tel 51

Options:

1. % a7ereT
2. ® giteaiy
3% Wy
4 & ZEATE

Question Number : 162 Question Id : 9662315571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty mg & ow Aeedt § 9§ 39 Owed &7 999 ¢ 1 Uoag O o9 e @7 957 IS5 951 51

Options:
1. = %‘1321

2 ® e
3 ¢ 'R
4, % g



Question Number : 162 Question 1d : 9662315571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty ng & aw et § 9, 39 Deed &7 099 7 1 Woag § 7 e 97 T51 ISR T30 50

Options:
1. % Ti2g

2. % e
3 ¥ RFrReg
4 ® giEy

Question Number : 163 Question Id : 9662315572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeET ng # ow St # 9, 20 Swew &7 == @ St f2g 70 e ¥ fAw ag Ty wwm & g @ 3gme En
[ELTE

Options:

1. ¢ 19wt =1 T
2. % 9wl & AgER
3. % 98 wa e
4 % fAwa

Question Number : 163 Question 1d : 9662315572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg 8, ox Hweat # €, 39 Twer @1 oad o A1 G 7Y geg & W0 et ] aee & S0 9 IEnam e

TAEAT

Options:

1. 19wt =1 w9
2. % 1 Wl & Srgar
z % 98w e
4. % %A

Question Number : 164 Question Id : 9662315573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T mg H, oW Bweat § §, 39 [9wen @1 =T & A1 TR o 9 aTAT @5 22Ee B

T ATHE HT EFT Gl o
Options:

1. ekl R

2. ® qmeng

3. % promefer T

4. ® Hgw fwar

Question Number : 164 Question Id : 9662315573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TteET v #, ow Bwedt § & 39 Swew @7 =9 & A1 T & 9 aiaT 9et 22me g

[T SR T LG G B
Options:

1. wefaieer R

2. % AT

3. % et T

4 % g

Question Number : 165 Question Id : 9662315574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Teedt § €, 39 Swey &7 o9 o8 S @ie® § 1o 77 g % SR S & 98 @1 9al Salgeo g

T AT (3 1) T FIE U e Bl
Options:
1. % Tepoyieramm sreaey

2 % gugoErE e
= ® TeemETearE s
4 HeeEre® T

Question Number : 165 Question Id : 9662315574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v . IR Ewed! 8 9, 39 owed %7 o3 35 AT S18® # 1o 77 deg & AR 30 & 98 %1 T5! 2aige0 5l

SR AT (@ ) T EIe R ol 8l
Options:

1. ® Tparicdm semer

2. % HOFIEr® g

2. ® foenemigares e

4 HaAT® g

Question Number : 166 Question Id : 9662315575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ooty mg o ow Hwedt § 9, 39 Hwew @7 =0 w1 750 70 e F uaiaant e @7 J5 JS15e0 A5l 8

STAE
Options:
1. % s
2. % g
3 ¥ QT
4. % i

Question Number : 166 Question Id : 9662315575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty mg & ow et § 9, 39 ey @7 o0 w91 50 77 s F uaiaanlt seg @7 95 SSTEe0 Tl A

SAHT



Options:

1. % aWdd
2. % Wi
3. ¥ T
4. % ST

Question Number : 167 Question Id : 9662315576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # € 39 Been o1 229 @ 1 iy 70 geg % uaiaart g @1 @Rt e 51 8

=T

Options:

1 & qryd
2. % 1o
3 % aivTET
4 % T

Question Number : 167 Question Id : 9662315576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET wg §, o Teen #§ °, 39 See @7 =9 o A1 150 M7 Seg & giaaTeT Meg &1 A1 dwed Tg1 5l

=g

Options:

1 ¥ |
2. % T
I R
4 % OF

Question Number : 168 Question Id : 9662315577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ®, oW fwedt § 9, 39 Hwed &7 949 & A1 150 77 seg F B Jeg @7 d57 Tded 3

GLLzY)
Options:

1. % Tomoy
2. ¥ gyt
3 % gqEEE

4. % SAEE

Question Number : 168 Question Id : 9662315577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or Teet # 9 39 B &1 909 3 1 iy 70 g & TTEW seg @ @t Heed B

G}

Options:
1. % Ty



2.« gyt
3 % gERE

4 % R

Question Number : 169 Question Id : 9662315578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeT v #, o Sweul § 9, 39 [9we0 &1 =909 ¢ A1 o0 M0 s & oA Jeg 91 951 9@ 21

ENEEIE
Options:

1. % 3TerT
2 % agRm
3. % el
4 o URiw

Question Number : 169 Question Id : 9662315578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg  or Teet # 9 39 Twen o1 909 6 A1 By 7Y g=g & TA geg 9 @5l [Heed 8

T
Options:

1. % amEr
2 % argRm
2 & Sl
4 ¢ URaw

Question Number : 170 Question Id : 9662315579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl v §, ox Twedt 8 €, 39 951 Waey &7 go- = 91 oy 77 Jeg-w & onf @ gt oweT g

LEE
Options:

1. % g ey Jed
o % glad o u=ie
3. ¥ o o aEd
4 % g s USrEr

Question Number : 170 Question Id : 9662315579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T va §, ox Teedt 8 €, 39 951 Wawy &7 g9- = 91 oy 77 Jeg-gm & anf @ gt HweT

LEE
Options:

1. % g & Jed
2. % glad o u=iet
3. ¥ a7 R AEd



4 % g o gET

Question Number : 171 Question Id : 9662315580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # 9 39 e &1 o0 o A1 oy Ty aeiy & T Ow g @ el ey 81

oI @ A1 geaT
Options:

1. % qaia®

2 % gy

3. ¢ ferar

4. ® URATTRE

Question Number : 171 Question Id : 9662315580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty ng & ow Heedt § 9, 39 ey @7 =09 ¢ 1 150 77 areaty F W0 UF e # de0 ey ol

oI T A T
Options:

1. % AAfeaw

2 % gy

3. ¥ TeaEr

4. ® URATTEF

Question Number : 172 Question Id : 9662315581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng | o Beedt § & 30 a5t Haed @ oo o A1 om v & o 3R Baer gh

AT AT FTH FAT 5 TEE]
Options:
1. % g

2. ¥ ugq
z ¥ gdqg
4 % =R

Question Number : 172 Question Id : 9662315581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR g # or et # 4 39 987 B @1 a0 ¢ 1 e wre & o s e gn

ST TET FTH AT 5 JEE]
Options:
1. % mg

o W Oge
3 ® giq
4 % gy



Question Number : 173 Question Id : 9662315582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v or Teent # 4 39 Heey @ 20T w1 1 Ty T e & aemeEt geg @ Been a5 8l

A
Options:

1. % arima
2 % gmfd
2% gAn
4 ¥ T

Question Number : 173 Question 1d : 9662315582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng # o Bwedt § 9 39 Swen @7 a9 & =t =y 7 seg & aamedt geg @ Bwew a5t 8

HdeT
Options:

1. % amT
o % gl
3. % wog
4. ¥ T

Question Number : 174 Question Id : 9662315583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferET v #, o Swed! 8 9, 39 981 Haew &7 g9 w1 T w0 # 00 Sugs Jeg #1911 dwe gl

Options:

1. % &7
2. % el
3 v gE

4 % f

Question Number : 174 Question Id : 9662315583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT na 8, oW el § 9, 39 Fa1 fowed F1 90 B¢ AT i £ & 0] I0H e, %1 T51 [o@ed ol

Options:

1% &4
2 ® et
3V g

4 ® F

Question Number : 175 Question Id : 9662315584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T va §, ox Seedt § 9, 39 Teey #7999 3% 7 g g #7951 o@ey 8

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. qeuEn
2 e
3 [EEEH
4 qEEIan

Question Number : 175 Question Id : 9662315584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T na #, or Twedt § 9, 39 ey #7999 35 57 O 95 F7 981 fo@ed 3

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. qoEen
2. e
3. qEEmH
4. geaian

Question Number : 176 Question Id : 9662315585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey v o, o Seent 8§ °, 39 oo @7 =9 o A7 Ga S a1 Jeg 5

Options:
1. % =gma
2. % T

3. TemEr
4 ® AT

Question Number : 176 Question Id : 9662315585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgietEy ng | ow et § 4, 39 ey @7 949 @ =1 Ja7 SHiET 916 Jag 2l

Options:
1. % =g
2. % T
3. ¥ T
4 % TEAR

Question Number : 177 Question Id : 9662315586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEeET ng #, oW et # 9, 39 Hwed @71 oad & S 150 T &g %7 S0 952 9167 o gl

Options:
1. % aumr
2. % amhe



Slwamﬁzﬂ
4 & e

Question Number : 177 Question 1d : 9662315586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeET ng ¥, O Seent § §, 39 Soe @7 =49 o A1 50 M7 sfeg, &7 ST Jea aTaT Hee 2

BT
Options:

1. % st
2 % amiae
3. % e
4 % SIFT

Question Number : 178 Question Id : 9662315587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Taie T we . T et # 4, 39 foeey @1 =2 o S 9a dgao Ted B 6y SweT fdwey 3]

Options:

1. % TEar
2. % wr
3.9 AT
4. % AT

Question Number : 178 Question Id : 9662315587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wag H, = et § 4, 39 fEwey @ e o S He) dpao deg #1 G6d R Heed 5l

Options:

1. % Tar
R
3. v atd
4. % TTHAT

Question Number : 179 Question Id ;: 9662315588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateTET wer #, I et # 8, 39 Towey &7 20 % S I8 70 958 & aga deg B d6d sk fHwe 3]

&

Options:

1. % &g
2 ¥ &0
3. % grgart
4 R e

Question Number : 179 Question Id : 9662315588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tl nd o, o deedt § &, 39 fSwer @7 a9 w9 18 17 6T & agaa qeg F He seuT ey gl
i

Options:

1. % o
2 ¥ &0
3 % ergat
4 % ear

Question Number : 180 Question Id : 9662315589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafefaT na §, o fwedt # 9, 39 Swew =7 oo &1 1 @ivw § 150 77 96 % Sgam feay [ouars do-1 & 9e1 e g

Options:

1. & (ST ) ST H G Tehcd T o 1 51 557
2 % (g TR i e W TR 7

3. % (AT EETEcH o IEar gl

4. % (9F) a0 T O Uyl TG B

Question Number : 180 Question Id : 9662315589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T g §, IR et § 9, 39 Swey @7 o2e % A1 wivd 8 90 M7 95 & Srar TedT [ENaTe® Ga-TT 6 a5 owed gh

Options:

1. ¥ ( ARt ) ST H 9 el o1 51 57
o % (TR TR T A AT 7

3. % (#) G EeH B T Rl

4. % (9F) S0 T U Tyl THT B

General Hindiz

Group Number : 10
Group Id : 96623173
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Feneral Hindiz

Section Id : 966231188
Section Number : 1
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231197
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9662315590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng §, o Sweul § 9, 39 [9wew &1 =49 ¢ A1 To0 0 a1 o Fd & 98 @6 a1 d@ed 5

TIET AT Tgete AT ¥g 01
Options:

1. ® Fqed 7S Y@

2. % aEy YaETe

3. aIquf AT

4 % RS Wi F1a

Question Number : 181 Question Id : 9662315590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 Teew #7209 @ 1 Ty T a1 & w1 o 95 @ Gl dwed g

TTET AT TEA AT T8 4N

Options:

1. * pdpd 0g gaaTe

2. ® ag qawT

2. ¥ a7l gFeRTe

4 % PARqus Widwd e

Question Number : 182 Question 1d : 9662315591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateET vg #, o Bweat § 9, 39 Pwen @1 a9 w6 =1 =g my aer & g g o A @ we et Heed 3

T & T §H I O 7 AT T
Options:

1. gurenet

2. % wHegaref

3. % wagef

4. % Tyearef

Question Number : 182 Question Id : 9662315591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TateET vg #, o Bweat § 9, 39 Pwen @1 a9 w6 =1 =g my aer & g g o A @ we et Heed 3

T & T §H I O 7 AT T
Options:

1. waraard

2 % Hepref

3. % wigef

4 % Treganf

Question Number : 183 Question Id : 9662315592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ®, oW et § 9, 39 Hwed &7 a9 ¢ S 120 70 ane & o0 oy & 9T 9 de SRET [ o)

AE Tora=T aRdt aig & WIS ithel =T €57 51
Options:

1. & gEtgares

2. % TegaeEias

3 ® gideae

4. ® yWvEEE

Question Number : 183 Question Id : 9662315592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW Hwedt § 9, 39 THwed @ g & S 150 T are & 0wy & 9 9 T aRET e B

ATE Tera=it aFdT aeg & §IS fthel =T €57 51
Options:

1. ¢ gEarE

2. % TemawEias

3. ® miidEiae

4 & yqrEvEidw

Question Number : 184 Question Id : 9662315593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T et # & TS aTga) o aivad q 7 e g

# A= 51 T (T
Options:

1% fegtagm
2 % g
3 % JEiAs awar#

4. ' [T FET AR 1 ST

Question Number : 184 Question Id : 9662315593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T et & & Tamgar o uitad s @1 fawey giam

H A= A5 g T (dTEEE)
Options:

1% #agtagm

2. % FEm A

. % gEids awar #

4. & gl ST AT <A

Question Number : 185 Question Id : 9662315594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW et § 9, 39 Tooed @7 =9 T A1 Gg1 a9 @7 d@ed 5N

o= FATE a7 oF Wies Temfar 3
Options:

1. ¥ OO g

2 % ggm aEg

3. ® A g

4. % iy

Question Number : 185 Question Id : 9662315594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW fwed! § 9, 39 Towed &7 a9 T 1 Gyl a5 9 &7 dwed i

o= FATE a7 oF Wies Temfar 8
Options:

1. ¥ e 9

2. % ggm g

3. ¥ [ g

4. % iy

Question Number : 186 Question Id : 9662315595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafafET g # ow et # € 39 Teew #7909 @ S 98T aeg 9 #7 Heew g

vt g # S uga, Tt g Tl el
Options:

1. ¥ Higame aeg

2. o Ty aa

3. % Hgm awr

4. % ghaamEd ameg

Question Number : 186 Question Id : 9662315595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g

wat gt # o ug=, Tt g1 i Tl el
Options:

1. ® weamEd aag

o, o Ty g

3. ® §gm g

4. ® HhTdEE T

Question Number : 187 Question Id : 9662315596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW et § 9, 39 Tooed @7 =9 T A1 Gg1 a9 @7 d@ed 5N

T izl # Uyl S et w7l
Options:

1. % fSrermaaree g

2. % W de

3. % o

4 qgE qEd

Question Number : 187 Question Id : 9662315596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW fwed! § 9, 39 Towed &7 a9 T 1 Gyl a5 9 &7 dwed i

T il # wgel T et w0 )
Options:

1. % {eramad g

2. % "I gy

3. % feraEg

4. & TIH FET

Question Number : 188 Question Id : 9662315597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e v . oR Bt # 9, 39 Twey @1 o3 % A1 fORm g g% 999 o7 gl ST &
Options:

1. & aret o =il AT A7 | H T T

2. % yrEat i TEAl AT A 6T S T

3. % el o AEl- MR S T T T

4. % ot o Tl w7 AT S T

Question Number : 188 Question 1d : 9662315597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt va §, o el § 9, 39 Swew @1 o= o St o e g% a1 @7 a8t Bee gh
Options:

1. szt BT Tl STTOeRT S AT g



2, % ol AT agAt ATIET AT @I S T
3. % qEot o agal- ST T T d i)
4. % oqrzt o el STIOET ST | S e

Question Number : 189 Question Id : 9662315598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T na #, or Beedt § 9, 39 e o1 o9- = =1 fovm g 3% o @7 |gt HweT En

Options:

1. % oo Uikl TefaITaT Fiaar € @ 175 &l
2. T Uit WA FiaaT @ ® TS
2. ® g Uikl WA FieaT | H IS g
4 R e dider - "WeaTAr wodl § @ TS g

Question Number : 189 Question 1d : 9662315598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot v 8, ox Beedt ¢ 9, 39 Swey @1 o9 = 1 foom g g% o9 @7 ag! e gn

Options:

1. % ey Uit TefaTaT Fiaar 9 & ms 8
2. & WEqT Uik HYTAT Fiaar | w1 TS
3. % ueqd Uit 'HYaTET widar o w0 g
4 ® AT Uikl - WYATEAT FicdT § &= 8

Question Number : 190 Question Id : 9662315599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferEd v #, o Swedt § 9, 39 fowey &1 oaa #1 S7 fau 7 gerat & fog |gt el arar ey 2

ST oIl ol A

Options:

1. % gar e o

2. ® TTAACIA FAT

3. ¥ T St O U wAT
4, % FrT g

Question Number : 190 Question Id : 9662315599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeT v, o Swedt § €, 39 owed #7939 3% A7 150 7 geTay & wy agt arf arar Heed g

3T o ot AT

Options:

1. % grar TaepT &

2. ® TAHCId FT

=, ¥ T SEE T U AT
4, % FHET g



Question Number : 191 Question Id : 9662315600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeT v, o Swedt § €, 39 owed #7939 3% A7 150 7 geTay & wy agt arf arar Heed g

AT 2@ A T

Options:

1. % o fgEs T4
o % s d

3. ¥ T AR ahel
4 % gdtad s

Question Number : 191 Question Id : 9662315600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

AT SET I a1

Options:

1. % v fgas A
o % e

3. ¥ T a- |

4 % gdte ¥

Question Number : 192 Question Id : 9662315601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Beedt 8 9, 39 Swey #7099 &% 91 fou 7y geret & o agt arf gt Seer 3

2T B ST
Options:

1. % FHH FAT

= W qE-gF @ AT

3 % Hefed ! g
4. % Fgd AT FAT

Question Number : 192 Question Id : 9662315601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v . o Ewedt 8 9, 39 ey %7 o3 3 7 150 7 geTa & oy |gt arf arar Hewed 2

T H B aAT
Options:

1. % TH ®AT

2. ¥ TE-|E W AT
3. % Oofed ! dEAr
4. ® FET AR FEAT

Question Number : 193 Question 1d : 9662315602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TafeET ng | o Bwedt § & 39 Swew o7 =4 o A1 31 e Atw it & T agt anf amer Beer 2

ST 71T o T gy

Options:

1. & Tepell a¥g &7 SeRaraed 751
2. % e Ik

3 % ggum A g

4 % gotaT @2l FAT

Question Number : 193 Question Id : 9662315602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

T AAT2T = Ui WgT
Options:

1. & Tepedl a¥g o7 SeRaTaed A51
o % T T

3 % g Uw A g

4 % gdtad ol FAT

Question Number : 194 Question Id : 9662315603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg # gr et # 4 39 ey @7 209 @ S 3T TE AreiiE & T aer erf arer Hee 2

T AT A I EIT, A T AR
Options:

1. % T o gat gt 7 @ ae

o, % FHrgET

% % PR & AT W FH A T 5T
4, % oty g

Question Number : 194 Question 1d : 9662315603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng | o Bwedt § & 39 Swew o7 =4 o A1 31 e Atw it & T agt anf amer Beer 2

T AT A I EI, o T AR
Options:

1. & F o get gt 7 @0d s

2. % AT AT

3. % g & 9T g4 0 FH T T 5T
4. % eI |

Question Number : 195 Question Id : 9662315604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng H, oW fwed! § 9, 39 Aa1 TIwed @7 a9 ¢ A1 o T8 ATwIrs & o] 51 35f araT ey 21

ot T e



Options:

1. % mgETil e

2 o geg & Org | SITE T OO § @ T
3. ® {Eme BT

4 % Tyt AramH T g

Question Number : 195 Question Id : 9662315604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & ow et § 8, 39 987 [9wed @7 =9 &€ 1 31 T2 At & og agr aref amr ey 2

T T AFET Teel Tl

Options:

1. % wgritaeg

2 Geg o Opg | SIfEr T BT § e 5T
3 % mEnmE gEr

4 ® fpetFdtamdTgET

Sub-Section Number: 2
Sub-Section 1d: 966231198
Question Shuffling Allowed : Yes

Question Id : 9662315605 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension

el Temy T T W e ud o we W daiad ot o)

AT ATa &0 AT O mmﬁ@mﬁmﬁaﬁﬁmw—mwﬁmﬁmﬁ T T o T T
W I &1 Fea Sla o UHHTT AT A WFiE F 5 AT Siiae H S ng= e T, |7 AgA o it
Tfee | T T UF ie ol =Tt a-dTe &1 fd] 90 04 1 9T oM a1 & Aws ! § O S TEW & @1 3517 51 39
o] I S & & I U T 5ed T o SUiEaT aq1s] SHRG | ade | & e -0, Fiu-, Tiag-, Se-1, 5@ a9 (@l
o TEeel T GeiTet STfe a1y (T 1 ioietT it eiepe T o7 Hiaew 21 gait o Aora T 93T 60y el Se-AT a6 &1 9E, fwa! BT

. Tiie o Amat aTie Ty S stl @7 Ui e, W1 o aid o STTie, AT Har ol A o foig Femarm <IaT 81 56 ueer gl &
%%m&rmﬁ%aﬁﬁ?ﬁm‘r&rmaﬁ%ﬁ e ITaT SiTer =TT et & 1 o gt 21 et o STrererar & s - Feiomnr # wgroar

Sub questions

Question Number : 196 Question Id : 9662315606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATTeerTe H HI=e Siiad Tofe 0% SITermied &7

Options:

1. % e

2 ® gE-wrE

3. ¥ T AT U A U
4 ® gy

Question Number : 197 Question Id : 9662315607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AFE T AGET FAT 57
Options:

1. % SRSt T elrar
2 ® mdtET

3. % qiiad # e
4. v Fgar

Question Number : 198 Question Id : 9662315608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tyt & Uy wTaer e 5T T 27
Options:

1. -

2 % g

= % giaga

4 % ga=-famio

Question Number : 199 Question 1d : 9662315609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAH | T - AT SR e, BT TT AT STea, A5 1 57

Options:

1. % oo
2 ® T

3. ¢ st

4 % g

Question Number : 200 Question Id : 9662315610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e W PIe JUE diid-
Options:

1. ® grg Siad

2. ¥ Uz-uh o gAWT St
Z ® T
4. ¥ ST

Question Id : 9662315605 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension

el T T T @ e U o we T da il Joe o)

nmamﬁﬁmﬁmﬁﬁﬁﬁaﬁ@mﬁmﬁaﬁﬁaﬁm—ﬁwﬁmﬁmﬁ Tt wer @ g 9T
W TE® JUTE 31 Fed A o UHHTT AT N WFTE o 5T AT Siiae @ EXa ne fihem T, | F AgA o i
Tlele | T T UF ie T a1 a-dTe @7 wa] S0 04 7 9T 4 g & 7ws! § O S TER & @19 57 51 369
TS W A & & H U [ 5 B F SUISAT a1 SHRA | Ada | & e - Hi, Fiu-2, Tiag-, Se-1, 5@ a1 (@l
o TEeel TOIT Tl FerC ST AT ST 21 o T T FIohs T T Wi 21 it ohl oot 9T Jch JetiTe, S Tae T 9E, woha’ T

L T o A aiTle g Seqatl @ Ui T, 1 o aid o afTie e Tar o At o forg Fmam <mar 81 20 werd gt &
%%m&rmﬁ%eﬁﬁ?ﬁm‘r&rmaﬁ%ﬁ SAEEITET Sflepd =T Tt & g1 UTH 51T 21 gafl o sTerera § ang— == H HgTeT




Sub questions

Question Number : 196 Question Id : 9662315606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSI | WA Ate o O ST o7

Options:

1. % Be-Ge

o % FE-wREe

3. ¥ T AT U SHE
4. ® FhH-Ia7

Question Number : 197 Question Id : 9662315607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT W UIET F4T 57

Options:

1. % FemaT T eRTal

2 % g

3. % qriad w1

4 Fgar

Question Number : 198 Question Id : 9662315608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tot & Uty BT ToaH 5T @@ar e
Options:

1.« g -t

2, % g

3. % Oitagd
4, ® oge-Tami

Question Number : 199 Question Id : 9662315609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TIH F W - AT AAET Teg, BT U= Tog, A1 57
Options:

1. % oeadr

2 ® TR

2 ¢ arfdies

4 % g

Question Number : 200 Question Id : 9662315610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH Ageis 1 PIE SUgH dw-
Options:

1. % Aa Sia"

=, o Uz-Te oY gHwT At




3. % et
4. % Sftfere



